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HE | BE 3TA 3478
= B2 |27 RES % EER
mamm| TR | g ol A | ERE | ysim ool
R CHE) =K\ (FM) | ERCAEE [ JL HND 28E B 900 61% = Bl 700 62%
L HND 28 900 57% 400 59%
L HND 28 900 49% | 14,000 400 51% 500
L HND 28 900 49% 400 51% 500
L HND 28 900 53% 400 55% 400
L HND 28 900 53% 400 55% 400
L HND 28 900 53% 400 55% 900
L HND 28 900 57% : 400 59% 900
121 | HND 28 900 57% | A:11,400 400 59% 900
125_| HND 28 900 49% 400
HND 28 900 49% 400 000
L HND 28 900 49% 400 000
L HND 28 900 49% 400 000
L HND 28 900 49% 400 000
L139_| HND 28 ,900 49% 400 000
RIR(FF) % |_JL102 HND | 28 ,400 51% 900 :13,500
Li04 HND | 28 ,900 49% 400 H:13,500
[ JL106 HND | 28 000 500 6% | H:14,000
L HND | 28 ,000 500 46% | 5:14,000
L HND | 28 ,000 500 46% | H:14,000
L HND | 28 .900 400 55%
L HND | 28 ,900 400 59%
HND | 28 ,900 7 400 59%
HND | 28 ,900 7 400 59%
HND | 28 ,900 7 400 59%
HND | 28 ,900 7 400 59%
HND | 28 ,900 7 400 59%
HND | 28 ,900 9 400 51%
HND | 28 ,900 49% 400 51%
HND | 28 ,900 49% 400 51%
HR CHE) = KR (@) | REmCAE) % | JL. HND | KIX | 28 9,900 61% 700 62%
HND | KIX | 28 12,900 49% | A:13,700 12,400 51% | A:13,500
KR (BE) % IX_| HND | 28 000 64% 800 65%
IX | HND | 28 900 49% 400 51%
R (AR =R TR | R (AR FE | J HND | SPK | 28 600 58% 900 60%
[ JL505 | HND | SPK| 28 300 57% 600 58%
[ JL503 | HND | SPK | 28 300 57% 600 58%
[ JL505 | HND | SPK | 28 800 55% 100 57%
[ JL507 | HND | SPK| 28 ,000 49% 300 51%
[ JL509 | HND | SPK| 28 ,000 49% 300 51%
L HND | SPK | 28 500 48% 800 50%
L HND | SPK | 28 800 55% 100 57%
L HND | SPK | 28 500 56% 800 58%
L HND | SPK | 28 500 56% 800 58%
L519 | HND | SPK| 28 500 56% 800 58%
[ JL521 | HND | SPK| 28 500 56% 800 58%
| JL523 | HND | SPK | 28 800 55% 100 57
| JL525 | HND | SPK| 28 800 55% 100 7
| JL527 | HND | SPK| 28 000 52% | A:19.100 200 4% | K:18.400
[ JL529 | HND | SPK| 28 000 52% | A:19.100 7,200 4% | :18.400
L531 | HND | SPK| 28 300 54% 6,600 56%
FLIR (BT FR%) F[__JL500 PK | H 28 7,900 52% 7.100 4
[ JL502 | SPK| HND | 28 9,000 49% 8,300 1
[ JL506 | SPK| HND| 28 9,000 49% 8,300 1
[ JL504 | SPK| HND| 28 7,900 52% 7,100 4
[ JL506 | SPK| HND| 28 800 55% 100 7
[ JL508 | SPK| HND| 28 800 55% 100 7
L PK| HND | 28 800 55% 100 7
L PK| HND | 28 900 52% 100
L PK| HND | 28 7,900 52% 7,100
L PK| HND | 28 7,900 52% 7,100
oL PK| HND | 28 7,900 52% 7,100
[ JL520 | SPK| HND| 28 7,900 52% 7,100
| JL522 | SPK| HND| 28 7,900 52% 7,100
| JL524 | SPK| HND| 28 7,900 52% 7,100
| JL526 | SPK| HND| 28 7,000 55% 300
[ JL528 | SPK| HND| 28 500 56% 800 58%
530 | SPK | HND | 28 500 56% 800 58%
R CRE) =18k RERCAE)H [_JL303 [ H 28 600 62% ,200 63%
|_JL305 | HND| Fi 28 ,000 61% 200 63%
307 | HND | F 28 200 56% | A.:18.700 100 58% | A:17,700
L309 | HND| F 28 200 53% | 420,700 8,200 56% | A:19,700
L HND | Fi 28 200 [ %:20,700 8,200 56% | A:19,700
L HND | Fi 28 700 :20,700 7,700 57% | A:19,700
L. HND | Fl 28 800 218,500 ,800 62% K:17,400
L HND | Fi 28 ,000 ,200 63%
L319 HND | Fl 28 000 ,200 63%
L321 HND | Fl 28 ,000 ,200 63%
| JL323 | HND| FI 28 000 ,200 63%
L325 HND | Fi 28 ,000 ,200
L327 HND | Fl 28 500 % JKK:18,700 ,500 JKAK:17.600
L329 HND | Fl 28 000 59% JKK:18,700 ,000 JKAK:17.600
L331 | HND| F 28 7,000 59% | /KA:18,700 000 JKA:17,600
|_JL333 HND | Fl 28 500 60% JKK:18,700 ,500 JKAK:17.600
335 | HND | F 28 500 60% | 7K:18.700, A:19.200 500 7K:17,600, 7:18.200
BE%X [ _JL300 H 28 700 62% ,200
| JL302 Fi HND [ 28 700 62% ,200 63%
304 Fi HND [ 28 100 58% ,400 60%
L306 Fi HND [ 28 8,700 55% A:19.700 700 57% A:18,700
L308 Fi HND [ 28 8,200 56% A:19.200 7,100 58% A:18,200
L FUK | HND | 28 7,000 59% | A:18.200 000 61% [A:17.100
L Fi HND [ 28 000 ,200 63%
L Fi HND [ 28 ,000 ,200 63%
L F HND | 28 ,000 JKA:16,800 ,200 63% |JKA:15,800
L F HND | 28 ,000 JKA:16,800 ,200 7KA:15.800
L320 | FUK| HND| 28 ,000 59% 000
| __JL322 Fi HND [ 28 7,000 59% ,000
324 Fi HND [ 28 7,000 59% ,000
L326 Fi HND [ 28 8,700 55% 700
L328 Fi HND [ 28 7.700 57% 6,600 60%
L330 Fi HND [ 28 7,000 59% 6,000 61%
L332 Fi HND [ 28 6,000 61% 5,200 63%
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HE | BE 3TA 3{7B
s B |zn |28 7B | gag | 550 s B | mnm | E00
BASR| T | mEix " AfE| — 231%
TR CHE) =88 (B0) | BR CRE) % | HND | OKA| 28H A1 000 Bl 400 62%
[ HND | OKA| 28 000 400 62%
[ HND | OKA| 28 000 400 62%
[ HND | OKA| 28 000 400 62%
[ HND | OKA| 28 800 200 62%
[ HND | OKA| 28 7.800 200 62%
HND | OKA | 28 7.800 200 62%
HND | OKA | 28 7.800 200 62%
[ HND | OKA| 28 7.400 62% 900 63%
[ HND | OKA| 28 7.400 62% 900 63%
HND | OKA | 28 7.400 62% 900 3
[ HND | OKA| 28 900 63% 400
[ HND | OKA| 28 900 63% 400
[ HND | OKA| 28 900 63% 400
e ES OKA | HND | 28 ,900 63% 400
OKA | HND | 28 ,900 63% 400
OKA | HND | 28 ,900 63% 400
OKA | HND | 28 ,900 63% 400
OKA | HND | 28 400 62% ,900 :
OKA | HND | 28 7,400 62% ,900 63%
L OKA | HND | 28 7.800 200 62%
L OKA | HND | 28 7.800 7,200 62%
L OKA | HND | 28 8,000 7400 62%
L OKA | HND | 28 8,000 7400 62%
L OKA | HND | 28 7.800 7,200 62%
[ JL998 | OKA| HND | 28 7.800 7,200 62%
920 | OKA| HND| 28 7.800 7,200 62%
L922 | OKA| HND| 28 7.300 62% 800 63%
KR (7 =R (FrFm) | KB (B % [_JL2001 PK | 28 700 57% ,000 61%
L2005 PK | 28 300 60% 800 64%
L2009 PK| 28 800 66% 800 68%
L2019 PK| 28 ,000 61% ,900 63%
AL (FF %) F[_JL2000 28 ,000 61% 500 64%
Pi 28 800 66% 800 68%
Pi 28 700 57% ,000 61%
L. Pi 28 700 57% ,000 61%
KR (BE#E) = LR (BT F %) | RBx (BId8) 5 [ JL: L 28 400 62% ,800 66%
J KIX | SPK | 28 400 69% 300 7
KL PK| 28 400 69% 300 7
ARG ) F Pl IX | 28 400 69% ,300 7
PK | KIX | 28 400 69% 300 7
L. Pi 28 400 60% 700
KB (51 =1&k KR (7 % [ JL: F 28 900 56% ,700 7
F 28 900 56% 700 7
F 28 ,900 56% 700 7
F 28 ,900 48% ,400 50%
(S 28 900 52% 1400 54%
F 28 900 48% ,400 50%
F 28 900 48% ,400 50%
L F 28 900 48% ,400 50%
KB (D =M EH) | KR (B % [_JL 28 300 50% ,000 53
L T OKA | 28 500 60% ,900 4
SPRE IR & [ JL O 28 500 54% ,900 1
OKA 28 300 50% ,000 3
1B = LI (B F %) = I FUI PK| 28 600 62% 20,500 4
FU PK| 28 600 68% 17,500 69%
FLIR FF i) %[ Pl UK | 28 600 68% 17.500 69%
PK | FUK | 28 600 62% 20,500 64%
RR (HE) =K@ 5 RA CPIE) 3 | JL H B[ 28 500 53% 20,300 56%
[ J HND [ MMB| 28 500 58% 18,300 60%
HND [ MMB| 28 500 58% 18,300 60%
ESTES B[ HND | 28 .500 53% 20,300 56%
[ J MB| HND | 28 500 58% 8,300 60%
MB| HND | 28 500 58% 8,300 60%
R CHE) =il RA CPIE) 3 |_JL HND [ AKJ | 28 500 58% 7,700 60%
[ J HND [ AKJ | 28 100 57% 300 59%
[ J HND [ AKJ | 28 100 7% 300 59%
557 | HND | A 28 300 1% 500 63%
FEVIE I 7 Y H 28 8,900 7% ,100 59%
L554 | AKJ| HND| 28 7.000 2% 200 63%
[ JL556 | AKJ| HND | 28 500 56% 700 58%
L558 | AKJ| HND| 28 500 56% 700 58%
Fom (HE) =#IE R CRE) % L HI H| 28 300 58% 200 61%
L HND [ KUH | 28 800 59% 700 62%
L! H H[ 28 7.200 61% ,200 63%
FEES Lt H]H 28 7.200 61% ,200 63%
L! HfH 28 7.200 61% ,200 3
L H[H 28 100 58% 100 1
RECPE) =%k R CRE) % L OBO| 28 400 55% ,400 7
L57 OBO| 28 400 55% ,400 7
L57 OBO| 28 400 55% ,400 7
L57 H OBO| 28 400 55% ,400 7
HILR L570 [ OBO[ H 28 400 55% ,400 7
L57. OBO| H 28 400 55% ,400 7
L57. OBO| H 28 ,400 55% ,400 7
L57 OBO| H 28 ,400 55% ,400 7
HR CRE) =& HRCRE)H [_JL585 | H HKD | 28 700 50% 100 1
HKD [ 28 7.100 51% ,600 3
HKD [ 28 400 53% ,900 55%
AR H 28 500 45% ,000 46%
H 28 300 48% 800 | 49%
H 28 800 49% 7,200
HR(PHE) =% R (FIE) % L Al 28 ,800 59% ,300
L H AO 28 ,800 59% ,300
L H AO 28 ,800 59% ,300
L H AO 28 ,500 57% ,000 59%
L H AO 28 ,500 57% ,000 59%
L H AO 28 ,800 59% ,300 61%
BHRR L A H 28 800 59% ,300 61%
L AO H 28 ,500 57% ,000 59%
L AO 28 ,500 57% ,000 59%
AO H 28 ,800 59% ,300 61%
AO H 28 ,800 59% ,300 61%
L A H 28 ,800 59% ,300 61%
R CRHE) RRCAEE | J HND J| 28 500 53% 500 56%
HND J | 28 ,500 53% ,500 56%
HND J | 28 ,500 53% ,500 56%
3 J | HND | 28 ,500 53% ,500 56%
J | HND | 28 ,500 53% ,500 56%
J | HND | 28 ,500 53% ,500 56%
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3TA 3{7B
BXf - <
BEW ki) B E BE
FLES s mase| ERE | amm ool
B CRE)=#E RRCHE) % 46% 3 Al 500 47%
42% 44%
49% 50%
45% 7
FREZR 41%
45%
45%
41%
RRCRE) =1Lk RR(CHE) % 42%
42%
23 42%
42% —
BRCRE) =/ RERCAE)E [ J 54%
50%
MRS .
. 50%
. 52% 59%
RRCHE) =miaE RRCHE) % K 47% —
X 42%
; 43%
FfCRER D | 50%
D . 43%
L. HM | HND | 28 900 42%
R CRE) =R HRCHE) % L: HND | O 28 ,400 60%
HND | O 28 300 58%
Do 28 ,900 62%
D] o 28 ,900 62%
L Do 28 800 56%
L. HND | 0 28 800 53%
[EITES L. OKJ [ HND | 28 ,900 62%
L. o) D| 28 500 57% | A:15,000 &:14,500
L. 6 D| 28 ,900 62%
L 6 D| 28 ,900 62%
L. OKJ | HND | 28 ,000 55%
L. OKJ | HND | 28 300 55% 56%
RERCRE) =58 RRCRE) % [__JL25! HND 28 ,200 50%
[ _JL255 | HND 28 700 49%
| JL257 | HND | HIJ | 28 7,700 49%
[ JL250 | HND | HIJ | 28 7,300 50%
[ JL261 | HND| HIJ | 28 ,000 54% 55%
[ JL263 | HND | HIJ | 28 200 59% 61%
[ JL265 | HND | HIJ | 28 000 54% 55%
267_| HND 28 000 54% 55%
LEB% | _JL252 J [ H 28 500 58% 60%
[ JL254 J [ HND | 28 ,000 54% 55%
[ JL256 J [ HND | 28 200 59% 61
[ JL258 J [ HND | 28 200 59% 61
[ JL260 J [ HND | 28 200 59% 61
[ JL262 J [ HND | 28 ,000 51% 52
[ JL264 J [ HND | 28 8,000 48% 49%
266 HND | 28 7,000 51% 52%
ERCRE) =WLAFH HERCHE) % [_JL291 [ H U 28 600 65% 66%
[ JL203 [ HND| U 28 000 59% 60%
[ JL205 | HND| U 28 000 59% 60%
[ _JL207 | HND 28 200 53% 54%
WWOFHFE | JL290 H 28 ,000 61% 66%
[ JL202 H 28 ,000 56% 59%
[ JL204 HND | 28 200 53% 54%
296 H 28 200 5 54%
HR(CPHE)=HE R (FIE) % 277 | H 28 400 46%
279 | HND | 10 | 28 400 16%
| _JL283 | HND| 120 | 28 800 54%
285 | HND | 12O | 28 800 48Y, 51%
287 | HND | 120 | 28 800 2 45%
HER 276 HND | 28 ,200 7 50%
278 O | HND| 28 7,200 7 50%
280 O | HND| 28 800 1 54%
284 O | HND | 28 ,300 3! 46%
286 O | HND | 28 ,300 43 46%
HERCRE) =#8 HRCRE) % | JL453 | HND S| 28 ,900 58% 61%
|__JL455 HND KS | 28 900 55% 58%
| __JL457 HND KS | 28 900 55% 58%
| __JL459 HND KS | 28 900 55% 58%
D KS | 28 900 55% 58%
D KS | 28 900 55% 58%
D S| 28 900 55% 58%
mER S| HND [ 28 ,300 60% 63%
KS | HND | 28 ,300 57% 60%
KS | HND | 28 ,300 57% 60%
KS | HND | 28 ,300 60% 63%
KS | HND | 28 900 55% 58%
KS | HND | 28 900 55% 58%
KS | HND | 28 ,900 58% 61%
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¥ = BEH ki) = P
magE| TR | g ol A | ERE | ysiw ool
R CHE) = @i e 28E A 300 57% S 7l 300 60%
28 000 52% 000 55%
28 800 55% 800 58%
28 300 57% 300 60%
28 300 57% 300 60%
28 000 55% 000 58%
N 28 700 47% 600 50%
% A 28 500 53% 500 56%
A 28 500 50% 500 53%
J A 28 800 55% 800 58%
[ JL480 | TAK | HND | 28 800 55% 800 58%
[ JL482 | TAK| HND | 28 300 54% 300 57%
[ JL484 | TAK | HND | 28 900 49% 800 52%
L486 | TAK | HND| 28 200 48% 100 51%
RRECRE) =aH ETAECEDES L491 [ HND| KCZ | 28 ,300 57% 300 59%
[ JL493 | HND | KCZ| 28 800 55% 800 58%
[ JL495 | HND | KCZ| 28 300 57 300 59%
L497 | HND| KCZ | 28 300 7 300 59%
L499 | HND| KCZ | 28 400 1 ,400 53%
A L490 | KCZ | HND| 28 300 4 300 57%
L492 | KCZ| HND| 28 800 55% 800 58%
L494 | KCZ| HND| 28 300 57% 300 59%
496 | KCZ | HND| 28 400 51% ,400 53%
1498 | KCZ | HND| 28 7,400 51% 400 53%
HR CHE) =l R CPIE) 5 L431_| HND 28 5,000 58% 000 61%
[ JL433 | HND [ MYJ| 28 7.000 53% ,000 55%
L435 | HND | MYJ| 28 ,000 55% ,000 58%
7 | HND | MYJ| 28 ,000 58% 000 61%
L HND [ MYJ | 28 200 49% 100 52%
L HND | MYJ | 28 200 49% 7.100 52%
HLFE L HND | 28 700 51% 6,600 5%
L YJ [ HND | 28 700 48% 7,700 51%
L YJ [ HND | 28 ,000 55% ,000 58%
L YJ [ HND | 28 500 54% 500 57%
L YJ [ HND | 28 ,000 53% ,000 55%
L YJ | HND | 28 7,500 51% 500 54%
R (Al =AM HR (CHE) % L HND 28 400 60% 200 61%
73| HND 28 ,900 59% ,400 60%
JL3971 | HND 28 700 59% | KA:17,000 300 63%
L375_| HND 28 ,900 59% 800 62%
L377_| HND 28 ,000 56% ,900 59%
L379_| HND 28 000 56% ,900 59%
EFLE L37 HND | 28 800 62% 400 67%
L37. HND | 28 ,000 56% ,900 59%
L37. HND | 28 800 62% 800 64%
JL3972 HND | 28 800 62% 800 64%
L37 HND | 28 400 60% | /KA:17.100 300 63%
L37 HND | 28 ,000 66% | /KA:15,700 900 69% | KAK:14.400
HERCRE) =K% RRCRE) % [ JL66 H 28 800 55% ,200 59%
[ JL663 | HND | OIT | 28 7.800 55% 200 59%
[ JL665 | HND | OIT | 28 7.800 55% ,200 59%
[ JL667 | HND| OIT | 28 700 58% 200 62%
[ JL669 | HND | OIT | 28 300 54% 700 58%
671 | HND| OIT | 28 300 54% 700 58%
K75 |_JLe62 HND | 28 200 59% 700 63%
[ JL664 | OIT | HND| 28 200 59% | 17,800 700 63% | 4:16,200
[ JL668 | OIT | HND | 28 700 58% 200 62%
670 | OIT | HND| 28 700 58% 200 62%
672 | OIT | HND| 28 800 53% 200 57%
674 | OIT | HND| 28 300 54% 6,700 58%
ERCRE) =R& RRCRE) % [ JL605 | HND 28 700 59% 6,600 62%
L607 | HND 28 8,700 57% 7,700 59%
609 | HND 28 8,400 58% 7,300 60%
L611 | HND 28 7.000 61% ,000 63%
L613 | HND 28 7.000 61% ,000 63%
L615 | HND 28 200 63% 200 65%
RB% | _JL606 H 28 200 63% 200 65%
L608 HND | 28 200 63% 200 65%
L HND | 28 200 63% 200 65%
L HND [ 28 200 63% 200 65%
L HND | 28 200 56% 200 58%
L HND | 28 700 59% ,600 62%
HERCRE) HRCHE) & [__JL62: H 28 7,800 57% ,700 6:
[ JL625 | HND 28 300 55% 200
L627 HND 28 ,300 55% ,200
| JL629 HND 28 700 59% ,200
L631 HND 28 700 59% ,200
|_JL633 HND 28 ,200 61% ,200 65%
| JL3955 HND 28 700 59% ,700 64%
L637 HND 28 700 59% ,700 64%
L639 HND 28 ,200 61% ,200 65%
[ E33 | _JL622 H 28 ,300 55% ,200 61%
| JL624 HND [ 28 ,300 55% ,200 61%
| JL626 HND [ 28 ,300 55% ,200 61%
| JL628 HND [ 28 ,200 ,200 65%
L630 HND [ 28 ,200 ,200 65%
L632 HND [ 28 ,200 ,200 65%
L634 HND [ 28 ,800 ,700 59%
3956 HND [ 28 ,800 ,700 59%
638 HND [ 28 ,200 ,200 65%
HERCRE) =215 HERCRE)% [_JL687 | H 28 ,200 ,200 63%
| JL689 HND 28 ,700 55% 700 57%
|__JL69T HND 28 ,700 55% 17,700 57%
| JL693 HND 28 900 56% 6,800 59%
| JL69S HND 28 ,200 56% 7,100 58%
697 HND 28 ,200 61% 5,200 63%
BERE | _JL688 H 28 ,200 61% 5,200 63%
|_JL690 HND [ 28 ,200 56% 7,100 58%
| JL692 HND [ 28 400 58% ,400 60%
| JL694 HND [ 28 6,200 61% ,200 63%
| JL696 HND [ 28 9,200 53% ,200 56%
[ JL698 HND [ 28 7,900 56% ,800 59%
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HE | BE 3TA
e B8 o |mn R 5]
mAsE| TR | i i Amm| T W
R (HE) =B RS e oJ | 28B 1 200 63% Bl 4,200
oJ| 28 300 58% 6.200
oJ| 28 600 55% 7,600
oJ| 28 200 63% 18,300 &:16.200
oJ| 28 200 63%
oJ| 28 200 63%
oJ| 28 500 58%
oJ| 28 500 58%
ERBR D[ 28 200 63%
ND | 28 200 61%
ND | 28 7.200 61%
IND | 28 6.200 63%
IND | 28 7.800 59%
ND | 28 800 57%
D[ 28 600 57%
D[ 28 600 57%
R (AR =BZAE | Bn(OE) ¥ S| 28 1300 40% 719,800
EESNES D[ 28 .300 40% H:19,800
R (RE) =K (B | ERE % [ J 28 ,300
28 300
R (2 | J I RT | 28 ,300
T RT | 28 300 43
R () =4L0R (3 Fak) [ HE ()% R P 28 000 52% | A:19,100 X:18,400
AL G T i) % SP RT | 28 ,900 52%
RR(CHER) =2&E (P8 | TR CHE) % HND [ NGO | 28 1,700 62%
HND [ NGO | 28 7.700 62%
BEE (P ) | GO | HND [ 28 7,700 62%
GO [ HND | 28 7700 62% —
RRE(RE) =% E(REp) | R (RE) % L: NRT | NGO | 28 000 26%
NRT [ NGO | 28 ,000 26%
BEE (P ) | NGO | NRT [ 28 000 26%
L NGO | NRT | 28 ,000 26%
R (FE) =18 Fa () % | JL3057 | NRT | Fi 28 500 60% 62%
TR 052 | F RT | 28 700 62% 63%
KR (5} =EEE AR (S [ Ji2i23 [ T HKD | 28 20,000 54% 56%
RS L2124 | HKD | ITM | 28 20,000 54% 56%
KR (5 =5 RIR (D% [_JL2i51 AOJ [ 28 800 52% 55%
AOJ | 28 800 52% 55%
AOJ| 28 800 52% 55%
oJ| T 28 800 52% 55%
AOJ | T 28 300 53% 59%
AOJ | T 28 800 52% 55%
KR (B ==R ™M [ MSJ| 28 900 48% —
E3 MSJ | IT™M | 28 900 48% —
KR (5 =#E RIR (S 2171 | 1M [ AXT | 28 500 55% 59%
L ITM | AXT | 28 ,000 57%
L2179 | TM | A 28 500 55%
HER L2172 [ AXT| T 28 500 55%
L2174 | AXT | T 28 500 55%
L2176 | AXT | T 28 500 55%
KR (BF) =165 R () % | JL2181 H 28 25,800 35%
HNA| 28 25,800 35%
HNA| 28 24,800 37%
HNA| 28 26,800 32%
fiZ=X3 H 28 25,800 35%
HNA 28 23,800 40%
HNA 28 24,800 37%
HNA 28 26,800 32%
KB (51 =1LF AR (FFH % [ JL2233 [ T J | 28 18,500 48%
L2235 | T GAJ| 28 19,500 2
L2237 | T GAJ| 28 20,500 2
W% | JL2234 | GAJ| ITM | 28 20,500 7
[ JL22 GAJ| ITM | 28 500 2
L22; GA M| 28 500 40% —
KR (BFH) =& R (2 | J 28 500 55% 7
28 500 55% 7
28 500 55% 7
28 000 60% 1
28 300 56% 7
28 700 49% 1
28 8,200 47% 49%
e 28 7.000 51% 52%
28 7.000 51% 52%
28 7.800 49% 50%
28 7,800 49% 50%
28 ,400 55% 57%
28 000 55%
28 ,000 55%
KR (5 =#18 KR (R % |_J 28 800 53%
28 ,800 53%
28 ,300 59% 61%
28 ,800 51% 53%
HBE 28 800 51% 53%
28 300 59% 61%
28 300 59% 61%
28 ,300 56% 58%
KB (5 =l KR (R % |_J J| 28 .500 39% 42%
MYJ | 28 .400 40% 43%
Y. 28 ,900 43% 45%
PAITES J 28 900 43% 45%
MYJ 28 .400 40% 43%
Y. 28 ,200 36% 38%
KR () =K% KR (R % |_J OIT | 28 ,800 34%
oIt 28 ,300 36%
OIT 28 ,800 34%
K% oIt 28 800 34%
oIt 28 ,300 36%
OIT 28 ,300 29%
KR (FFH) =Ri& KR (F7+53) % 28 700 49%
28 700 49%
28 ,900 55%
28 ,000 51% 3
RIGH 28 ,000 51% 53
28 900 55% 7
28 ,900 55% 7
28 ,900 55% 7
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=R ms | HE|DE TA
ik | xR mRwE | Gn i i
mAAE| FIEES
KB (51 =fEA KR (A % [_JL2383 KMJ | 28 E R 100 50%
[_JL2385 KMJ | 28 700 48%
L2389 KMJ | 28 200 46%
A% [ _JL23s2 J | 1T 28 900 47%
[ JL2386 [ 1T™M | 28 500 45% | 14,700 &:14.200
2392 TM | 28 400 45%
KR (5 =55 KR (5 % [ JL: T 28 800 40%
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:19,200

H:19.200

:18,200

120,200, +:18,200

:18,200

:19,200, £:17,100

[£:20,200, £:17,000, H:18,700

119,200, +:16,000, B:17,700
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XA 3MTA 3178
% W5
RRCHEB) =ERSE RRCHE) % _ 5,500
19,800, H:16.200 7800, H:14.200
£ 20,600, H:16.200 8,600, H:14.200
8,300, %+:19,800. H:18.800 200, % £:17,800, H:16.700
7400, H:18.800 5,400, H:16.700
:19.500 :17.400
%:18.800, £:17.800, H:19.500 :16,700, £:15.700, H:17.400
£ H:18800, £:16.200 116,700, +:14.200
ERBR _ _
118,000, 118,500 115,900, +:16.400
118,300, 1:18,500 116,200, +:16.400
:18,300, +:18,500 116,200, 1:16.400
118,300, 118,500, H:19.000 :16,200, 1:16.400, H:16.900
119,800, +:18,600 :17.800, 1:16.500
119,300, H:19.800 :17,200, H:17.800
119,300, +:17,800. H:19.800 7,200, 15,700, H:17.800
R (AR =BZAE | Bn(OE) ¥ +:32.300 ¥ 1:22,800. H:21,800
BEAGH :32,300 :21,800
R (RE) =K (B | ERE % [ J
KR (7 % L
R (RRE) = LI GH %) | SR (BRE) % 2:20,100, $:21.800, +:16,800, H:18.400 7:19,400, £:21,000, F:16,100, H:17,700

RECAR) =& &2 (REh)

% +:18,500, H:16,800

£1:17,800, H:16.100

RR (B =% 52 (REh)

R (RRE) %
BEE (P ) |

£:16,600, +:15,200, H:17.100

£:21,600, H:18,800

:21,000, £:18,700, H:21,600

218,900, H:17,000

8,900, H:17,000

17,900, +:17,000, BT

+:18,900, H:17,000

HR (A E) =1aRl H (M) % %:17.700, £:16,000, H:18.200
EEIEES
KR (5} =EEE AR () ¢ [&1:22,600, H:19,800
EE
KR (5 =5 K () 20,300, H:19.300
20,300, H:19,300
19,300, H:20,300
20,300, H:19,300
0 :18.400
20,300, £:19.300
KR (B ==R 122,900

KB (5 =HE

E3
KR (FF) %

18,900, £:17.000

900

,.800, H:14,800

300

:800. H:15.800

RERE +:17.000, H:16,000 800, H:14,800
:17.000, £:16.000 800, £:14,800
:17,000, %:16.000 800, £:14,800
KR (BF) =165 K () % +:26.800
:27.800
£ H:28.800
EER
£ H:24.800
:28.800
KR () =1L R (2 | J :17,000
:18,000
:22,500
Iz :19,000
500 ___
KB (D) =& KR (D% [_J ,100, H:15,000 7,600, H:14,500
100, B:15.000 7600, H:14,500
100, B:15.300 7600, H:14,800
5500, H:15,800
:16,900, 15,800
200, E:1 N :19,700, %:16,500, H:19,000
8 800 £:17.000 :19,300, £:16.500
ez 7 ,200 7.700
7 200 7.700
7 ,700, H:17.700 8200, H:17.100
7. 18,200, H:18,700 7,700, H:18,200
+18,500, 116,700, H:18,700 000, +:16,200, H:18,200
120,000, £:16,800. H:18,700 500, £:16,300. H:18,200
L. :19,500, 116,300, H:17.400 000, £:15,800. H:16,900
KR (5 =#18 KR () % |_JL2241 | :13,300 ,700
:13.300 :12,700
:14,300, 114,800 :13,800, £:14,300
+16.300, 114,800, H:17.000 15,800, %:14,300, H:16.400
% H:13800. £:15,000 % H:13.300, £:14,500
& +:14500, H:14,700 £ 1:14,000, H:14.200
£:15.300, %:13,000, H:16.300 4,800, +:12,500. H:15.800
KB (5 =l KR (R % |_J
PAITES
KR (5 =K% KB (FFH % | J 5,300, H:13,300 £:15,200, H:12,700
14,800 E 514,300
:15.300 :15,200, H:15,100
K% £:15,300, H:13,800 1:14,800, H:13,300
300 :14,800, H:15,100
300 :15,100, £:13.800
KR (FFH) =Ri& KR (F7+53) % ,700, H:14,000 5,200, H:13,500
.700, H:14,000 5,200, H:13,500
500, £:14,500, B:14.400 2,900, 114,000, H:13.900
:15,300 :14,800
RIESE
% £:13500 ££:12.900
% £:13,500 ££:12.900

£:14,000, B:14.600

#:13,500, H:14.100
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KB (51 =fEA KR (FFH % | J 14,300, H:12.900 3,800, H:12,400
15,000, H:14.700 4,500, B:14.200
15,000 4,500
A% 700, B:14.200 200, H:13,700
4,700, £:14.900. H:15.000 4,200, %:14,400. H:14,500
:15,000 2,500
KR (5 =55 KR () +:17,600 7.100
38% +£:18,000 7500 _
42% 118,000, H:17.500 117,500, H:17,000
42% 118,000, H:17.500 117,500, H:17.000
42% 118,000, H:17.500 :17.500, H:17.000
B 5 44% :15,300, 1:17,000 :14,800, £:16,400
44% 115,300, 116,300, H:17.000 114,800, +:15.800, H:16.400
39% 116.900, H:17.300 :16.300, H:16.700
39% 116,900, H:17.600 :16,300, H:17.100
37% 7,800, +:16.100 7300, £:15,600
KR () =ERE KR (7 % 52% 6,000, H:14,000 5,500, H:13,500
52% 6,000, H:14.000 5500, H:13,500
52% 5500, H:13,500
55% 500, F1:14,000
55% 000
55% 000
53 000, £:12,900. H:14,500
BERER 7 500
7 500
7 X 14,500 500, H:14,000
7 X 14,500 500, H:14,000
7 ,000 500
3 ,000. H:15.500 500, H:15,000
53% ,000. B:15.500 500, H:15,000
R () =BEXS AR () ¢ 33%
ESN-E L: 33%
& & E (FE) = FLIR (T | 2 a2 (k) R 50% +£:23.200, H:20,500 £:22,400. H:19.700
J 4 +:25,900, H:21,600 5,100, H:20,700
3 122,100, +:21,700, H:22,000 21,300, %:20,800, H:21.200
7 122,600, +:20,200, H:22,000 21,800, £:19,400, H:21,200
L 7 123,600, 19,200, H:22,000 :22,800, 1:18,400, H:21,200
FLOR B F i) [ 50% £:22,100 1,300
J 53% |2+ H:20,500 119,700
52% 0,500, %:22,00, H:22,600 :19,700, %:21,400. H:21.800
52% 0,500, %:22,00, H:22,600 H:19,700, %:21,400, H:21.800
50% | £:22,200, H:23.200 £:21,400, H:22.400
AR BT —Zmal | LR (BT ) 7 39%
ESTES
L 9
HWREFFR) =F AR F TR | 38%
38%
31% :17.600 :16.700
EHRR 31% 17.600, H:15,000
J 38% :17.600 :16.700
38% :17.600 :16.700
IR FFiR) =E FLIR FF i) %[ 46%
J 41% _[H:17.600 H:17.100
41% _[H:17.600 H:17.100
HER 41% |[£+:17,600 2£+:17.100
J 46%
46%
IR FFiR) =1E5 FLIR FF ) %[ 40%
36%
36%
33% % H:22,000
iZ=x3 33% |£1:21,000
36% [21:19,000
36%
33% % H:22,000
FR=AREFTE) FRR 45% | % 120,300, H:17.200 #1:19.300, H:16.100
51% [£1:16.700 ££:15.700
ARG TR R _J 51%
46% 119,900
& =FL1 FHF) ek 45%
45%
50%
50%
48%
48% 1:18,600
47% t:18,300, H:16.500 R
50% | +:17,600. H:18,700 7,100, H:18.200
39% 120,600, 117,600, H:21.400 [£:20,000. £:17.100, H:20,900
40% 0,100, £:17,600, H:21,400 19,600, :17.100, H:20,900
EB=HRFHTR) 5 55% +:24,000 1:23.200
ALIR G T i) 55% +:23500, F:24,000 £:22,700, B:23.200
BE=TE5 1B % 45%
B 45%
BE=la EEE: 55% :21,500
58% | +£:20.200
WaxE [ s8% |
55%
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RE(CRE) =Xk (D) R CHE) % JL101 55H 9,500 62%
L103 55H 9,900 61%
JL107 | 558 1,800 53% | A:12,800
L 55H 1,800 53% R:12,800
JL 550 0,900 57% | K:11,800
L 55H 0,900 7 ZAR:11,800
JL 556 0,900 7% | A:11,400
L 55H 9,900 1 Z:10,400
JL 556 9,900 % | A:10,400
L 55H 00 3
JL 556 00 53% | A:13,400
L131 55H 00 53% ZR:13,400
JL133 | 558 800 53% | A:13,400
L137 55H .800 53% ZR:13,400
JL139 | 5580 800 53% | A:13,400
ENHCGZEES L10; 55H & 400 55% :12,800
JL104_| 5580 800 53% | :13,400
L 55 H &l ,800 49% H:13,400
JL 55E 800 49% | H:13,400
L 55 H &l ,800 9 H:13,400
JL 55E 0,900 7
L 558 i 900
JL 556 900
L 558 i 900
JLi24 | 55806 900
6 | 5587 900
JL128 | 5580 00
L 558 i 11,800 53
JL 55E 11,800 53%
L 558 i 11,800 53%
FOR CRE) =Kk (B#) | ®RRCAE)FE [ JL 55 H A 9,500 62%
L: 55 H &l 11,800 53% A:13,100
AR (BE) % | _JL220 | 558G 8,100 68%
L228 55 H &l .800 53%
RRCHE) =HIEGFm) | RRCAB)HE | JL501 | 55B 600 69%
595 | 5588 100 60%
JL503 | 5580 100 60%
505 55 H &l 400 59% R:15,900
JL507 | 5580 00 54%
L5 55 H &l 7,400 54%
JL 556 7,400 54%
L 556 400 59% | 15,600
JL 556 100 60%
L 556 100 60%
556 100 60%
556 100 60%
556 400 59%
556 400 59%
558 400 56% | Kk:17,400
556 400 56% | A:17,400
JL531 | 558 900 58%
HREFFE) E L50 558 ,400 56%
JL502 | 55H 900 55%
L596 | 55H 400 54%
JL504 | 558 400 56%
L506 | 55H 400 59%
JL 556 400 59%
L 556 400 59%
JL 556 400 56%
L 556 400 56%
JL 556 400 56%
556 400 56%
556 400 56%
556 400 56%
556 400 56%
556 400 59%
556 100 60%
556 100 60%
R CHHE) =18/ HRCPE) % [_JL303 | 558 ,000 66%
L305 | 55H 300 65%
JL307 | 558 300 60% | 16,800
L309 | 55H 300 58% | A.:18,800
JL 556 7,300 58% | A:18,800
L 556 800 59% | 418,800
JL 556 100 63% | A:16,600
L 556 400 70%
JL319 | 558 400 70%
L321 | 55H 400 70%
JL323 | 55H 700 67%
L325 | 55H 300 65%
JL327 | 558 800 4%
1329 | 55H 300 3% | A:15800
JL331 | 558 300 3% | :15.800
L333 | 55H 800 4% | A:15800
JL335 | 558 800 4% | K:17,300
[HEES L300 | 55H ,100 6%
JL302 | 55H 100 66%
L304_| 55H 700 62%
JL306 | 55H 800 59% | A:17,900
L308 | 55H 300 60% | A:17,300
JL 556 300 63% | A6,
L 556 400 70% | 7K:13,800
JL 556 400 70% | 7KA:13,800
L 556 400 70% | 7KA:14,800
JL 556 400 70% | /KA:14,800
[ JL320 | 55H 400 70% | 7KA:14,800
32! 55H ,300 63%
JL32 556 300 63%
L32 558 ,.900 59%
JL328 | 558 900 61%
L330 558 ,300 63%
JL332 | 558 300 65%
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L991 55H ,600
JL903 | 558 600
L905 55H ,600
JL907 | 558 400
55H ,400
JL 556 400
L 55H ,400
L 556 600 68%
55H .600 68%
556 600 68%
55H .600 68%
550 600 68%
[ J 558 ,600 68%
R (R % 55 H A 600 68%
55H i 600 68%
556 600 68%
55H i 600 68%
55E 600 68%
L 55H i 200 65%
JL 55E 400
L 558 i 400
JL 556 600
L 558 i 600
JL 556 400
L 558 i 400
556 400
55H i 700 65%
KB (BFH =#IRGFFm) | KR (B 55 H A 400 65%
55 B Al 300 67%
55E 300 71%
558 i 700 66%
ARG FiR) % 55 H A ,000 68%
55 H &l ,300 11%
556 400 65%
55H i 200 65%
KR (BEEE) =4LIE G Fi%) | KB (B9E) % 55 H A 700 68%
55 H &l .800 75%
55E 800 75%
RGTFm F[_J 55 B A 00 75%
556 800 75%
556 700 68%
KR () =18 KB (B FH % 55H 0,400 58%
556 0,400 58%
556 0,400 58%
556 1,800 52%
[EEES 5508 00 56%
556 00 52%
556 800 52%
L2060 | 55H 800 52%
KB (FH =958 (R#) KB (FFH % | _JL2081 | 55H 400 55%
L2087 | 55H 2,900 66%
SPRE(RER ¥ [ JL2084 | 558 4,400 63%
L2088 | 55H 7,400 55%
1B =FLIE BT i) =S [ JL3513 | 558 600 66%
L3515 | 55H 600 71%
FL0% (B F#%) % JL3510 | 558 ,600 71%
556 00 6%
FR CRE) =Z%ia31 EEACES 5508 00 7%
556 600 2%
556 7,600 62%
B 55H 9,600 57%
556 7,600 62%
556 7,600 62%
RE CRE) =Rl RRCHE)E [ J 558 6,900 62%
556 7,600 60%
556 7,600 60%
556 5,900 64%
JOIE: 550 7.300 61%
556 00 65%
556 00 59%
556 000 59%
TR CRE) =% HRCPE)FE [_JL541 | 558 500 62%
L543 | 55H 100
JL545 | 558 600
ElEES L540 | 55H 600
JL 556 00
L 556 300 30
RRCRE)=%& RECHE) % [ JL! 5508 .700 59%
L57 556 7,700 59%
JL67 55H 7,700 59%
L579 | 55H 7,700 59%
HILFE JL570 | 55H 7,100 59%
L572 | 55H 7,700 59%
JL574 55H 7,700 59%
L576 | 55H 7,700 59%
RR (CFIH) =KiE R (CFHE)® | JL585 | 558 00 53%
L587 | 55H 00 55%
JL589 | 558 200 57%
WEER L584 | 55H 200 48%
JL586 | 558 000 52%
L588 | 55H 500 53%
RRCPE) =F#% RECHE)%E [ JL 5508 ,800 62%
L 556 800 62%
JL 556 800 62%
L 556 500 60%
L 55H ,500 60%
JL151 | 558 800 62%
BHRE L 558 ,800 62%
JL 556 500 60%
L 558 ,500 60%
JL 556 800 2%
L 558 ,.800 2%
556 800 2%
WRCRHE) = 558 600 2%
556 600 2%
9 558 ,600 2%
=R% JL154 | 55H 600 2%
6 558 ,600 2%
556 600 2%
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Fm CHE) =HH R (HE) % |_JLI61 | 550 3800 50%
63 55H 4,700 47%
556 0,900 61%
55H 000 49%
ER 55H ,000 46%
55H 000 49%
556 000 49%
558 000 | 46%
TR CRE) = /M2 R (HE) % | JL 556 9,500 1
55H 10,500 7
556 500
55H ,500
550 500
55H ,500
IR 55 H A 500
558 i 500
556 500
558 i 500
JL 55E 0500
L 558 i 0,000 59%
FOR CRE) =fEWl RECHE) % [ JL 55 H A 2,200 64%
55 H &l 3,100 61%
JL235 | 5580 0,900 68%
L237 | 55808 00 68%
JL 556 00 60%
L: 55 B Al 00 57%
[EITES JL: 55 H A 800 65%
L: 55 H &l ,400 60% R:13,800
JL 55E 0,900 68%
L 55H i 500 68%
55E 800 59%
55H i 700 58%
WRCPE) =L RECRE) % 55 H A ,000 62%
55 i 300 53%
556 300 53
55 H &l ,000 4
556 800 7
55 i 000 2
55E 800 7
55 i 800 7
LE% 550 ,300 62
556 800 57
556 000 62%
556 000 62
556 000 62%
556 800 54
55H ,.800 51%
556 800 54
B CRHE) =ILOF8 R CPE) % 5508 ,600 68%
556 900 62%
556 900 62%
556 900 56%
WOFHHE |[_JL290 | 55H ,600 68%
556 000 61%
556 900 56%
556 900 56%
R CRHE) =HE RRCPE)FE [ JL277 | 558 600 49%
L279 | 55H 600 49%
JL283 | 55H 200 56%
L285 | 55H 200 53%
JL287 | 55H 000 47%
HER L276 | 55H 600 52%
JL278 | 55H 600 52%
L280 | 55H 200 56%
JL284 | 55H 500 49%
L286 | 55H 500 49%
RRER(PHE) =E5 R CHE)® | JL453 | 558 ,300 63%
L455 | 55H 300 60%
JL457 | 558 300 60%
L459 | 55H 300 60%
JL461 | 558 300 60%
L463 | 55H 300 60%
JL465 | 558 300 60%
BER L452 | 558 1600 65%
JL454 | 558 600 62%
56 | 55H 600 62%
JL458 | 558 600 65%
L460 | 55H 300 60%
JL 556 300 60%
L 556 300 63%
RRCRE) =8k RECHE)%E [ JU 5508 ,600 62%
L47 556 300 57%
JL479 | 558 100 60%
L481 | 55H 600 62%
JL483 | 55H 600 62%
L485 | 55H 400 60%
JL487 | 55H 800 52%
=% L47 55H 800 58%
JL4T! 55H .800 55%
L47 556 100 60%
[JL4s0 | 55H 100 60%
L482_| 55H 600 59%
JL484 | 55H 100 54%
L486 | 55H 300 54%
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R (Pl —BEAE R CFIE) 3¢ 55H 800 7 R:17.800
EERER 558 ,800 7 F:17,800
R (RRE) =K () | RR(RHE) 55H ,600
[ J 558 ,600
AR () % 55H ,600
[ J 558 ,600
R (RRE) =#LIR G F i) | BUR (FH) % 55H 400 56% | A:17.400
AL T iR) % 558 400 56%
RR(RRE) =2TE(PE) | BN (FRHE) % 558 400
55H ,400
AEE(PED R 55H ,400
55H ,400
R (R H) =12 EAGTES L3 55H ,800
EEEES L 55H ,100 6%
KB () =&fe AR (B FE [ JL 55 H A ,200 58%
B L. 558 i 200 58%
AR(BEFH =% AR (B 5 [JL 55 H A ,900 56%
L: 55 H &l 7,900 56%
JL 55E 7,600 7
BHRR L2152 | 55E A 7,600 7
[ JL2154 | 558 % 6,200 1
L215: 55 H &l 7,600 7
KB (5 =7kHE AR (D% [ JL217 55H ,600
L2173 | 5587 100
JL2179 | 55B % 600
FERE L217 55E B ,600
JL2174 | 5587 600
L2176 | 5587 600
AR (B =il& AR (FFH % | JL2201 [ 558 300 59%
L2203 | 55H 7 300 59%
[ JL2205 | 558 % 300 59%
L2207 | 5587 800 63%
JL2209 | 55H 7 100 59%
L2211 | 5587 300 5
JL2213 | 55H 7 800
(=3 L220( 55E B ,800
JL2202 | 55H 7 800
L2204 | 5587 200 53
JL2206 | 55H 7 400 53%
L. 55H i 200 59%
JL: 556 800 57%
2212 | 55H 800 57%
KR (B =% KR (B % [ JL22: 558 600 55%
[ JL2243 | 55H 600 55%
[ JL22: 55H 100 63%
L2251 | 55H 600 55%
FEES JL2240 | 55H 600 55%
[ JL2244 | 55H 100 63%
JL2248 | 55H 100 63%
L2250 | 55H 100 60%
KR (B =#21l AR (B % [ _JL2301 [ 558 0,500 45%
L2305 | 55H 0,400 45%
JL2309 | 55H 9.900 48%
[ATIES L2302 | 55H 9.900 48%
JL2306 | 55H 400 45%
L2310 | 55H 200 1
KR (B =K% KR (F79)5% | JL2361 | 5580 600 T
L2365 | 55H 100 9
JL2367 | 55H 700 7%
K% | _JL2362 | 558 700 7
JL2364 | 55H 100 9%
L2366 | 55H 100 35%
KR (B =R AR (A% | _JL237 55H 500 53%
L2373 | 55H 500 53%
JL2375 | 55H 800 59%
L2377 | 55H 800 56%
% JL237. 550 ,800 56%
L2374 | 55H 800 59%
JL237i 55H .800 59%
L2378 | 55H 800 59%
KR () =FEA& KR ()% | _JL2383 | 65H 900 59%
[ _JL2385 | 55H 2,500 52%
JL2389 | 55H 0,900 59%
33 [ JL2382 | 55H 0,900 50%
[ JL2386 | 558 400 49% |K:13,500
L2392 | 55H 300 49%
AR (B == KBR(FH % [ _JL2431 | 558 600 44%
[ JL2433 | 55H 100 43%
JL2437 55H .100 58%
L2441 | 55H 100 46%
JL2443 | 55H 100 46%
B L2430 | 55H ,600 48%
JL 55H 600 48%
L. 556 900 43%
JL 55H 900 43%
L. 556 400 41%
AP =ERE ABR(BEFH % [ JL 55H 400 55%
L2403 | 55H 400 55%
JL2407 | 55H 400 55%
L2409 | 55H 900 64%
JL 55H 300 59%
L. 556 300 59%
JL 55H 800 57%
EREX L 55H ,900 4
JL2402 | 55H 900 4%
L2404 | 55H 100 3
L: 55H 100 3
JL 556 800 1
L2412 558 ,.800 7
JL2414 | 55H 800 7
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T s
= B2 lgpamm| mmm | 558 i
R (B =&BZXE RER(FFFDSE | JL2465 | 55H 500 62%
BERER L2464 | 558 500 2
ZEE(PED) =4 Tk BEE (P F|_JL3103 | 55H 400 4
L3105 55H ,000 7
JL3107 | 55H 300 1
L3115 55H 700 65%
JL3117 | 55H 700 65%
ALIR (BT F &%) F|_JL3100 | 558 1300 59%
JL3106 | 55H 000 62%
L. 55H ,800 55% H:19,000
JL 556 800 55% | :19,000
L. 55H ,400 54%
I FFR) =%mal | IR GRFm) R 55H ,900 50%
L27 55H .000
JL27 556 000
L27 55 H &l .000
ESHES JL27 558 i 000
L27 55 H &l .000
JL27 55E 000
L27 55 B Al 900 50%
IR FFR) =FHF ARG T [ 55 H A 0,900 55%
558 i 0,900 55%
556 0,900 55%
BHRR 55 B A 0,900 55%
556 0,900 55%
55H i 900 55%
FLOR (B F k) =FE FLIR G F i) % 55 H A ,800 50%
55 H &l ,200 45%
55E 200 45%
FERE 55E B ,200 45%
55E 800 50%
FHEE 800 50%
FR=ALIR TR RS 55 H A 400 50%
55H i 200 56%
AR (T FaR) %[ JL 55 B i 400 56%
55 B Al 000 52%
e =#LI% i) (=S 55 H A 300 49%
55 H &l ,300 49%
55E 0,600 67
55 H &l 0,600 67
556 5,400 52% | A:16,300
LR EFFR) FE 558 ,600 67
556 800 50%
556 800 54%
556 300 43%
556 900 44%
RE=HIRFHFiR) PREES 5508 .100 59%
ARG TR E| J 55H ,100 50%
BE=1LE =S [ JL 558 ,900 50%
556 700 62%
ez [ J 550 .700 62%
JL3538 | 55H 19,900 59%
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RE(CRE) =Xk (D) ESACEEES JL101 55H 9,500 62%
L103 55H 9,900 61% £:10,100, £:10,400
JL107 | 558 1,800 53% A%t
L 55H 1,800 53% S
JL 550 0,900 57% |A&
L 55H 0,900 7 S
JL 556 0,900 EES
L 55H 9,900 1 S
JL 556 9,900 EES
L 55H 00 3! S
JL 556 00 53% A&
L131 55H 00 53% S
JL133 | 558 800 53% A
L137 55H .800 53% X
JL139 | 5580 800 53% A
ENHCGZEES L10; 55H & 400 55% :
JL104_| 5580 800 53% [ A:
L 55E B ,800 49% |H:
JL 55E 800 49% | A:
L 55E B ,800 9 A:
JL 55E 0,900 7% |89
L 558 i 900
JL 556 900
L 558 i 900
JLi24 | 55806 900
6 | 5587 900
JL128 | 5580 00 ,
L 55 H &l 11,800 53 ,.300, H:12,800
JL 55E 11,800 53% 400, £:10,300, H:12,800
L 55 H &l 11,800 53% ,400, 1:10,300, H:12,800
FOR CRE) =Kk (B#) | ®RRCAE)FE [ JL 55 H A 9,500 62%
L: 55 H &l 11,800 53% A:13,100, £:13,400. H:12,800
AR (BE) % | _JL220 | 558G 8,100 68%
L228 55 H &l .800 53%
RRCHE) =HIEGFm) | RRCAB)HE | JL501 | 55B ,700 66% |<:15,300, 1:15.700. H:11,600
595 | 5588 900 58% :
JL503 | 5580 900 58% 400
505 55 H &l ,400 56% 500, H:15,100
JL507 | 5580 000 52% 100
L5 55 H &l ,000 52% 00
JL 556 000 52% :15.100
L 556 400 56% 500, £:18,000, H:15.100
JL 556 600 58% 000, H:15,400
L 556 600 58% 000, H:15,400
556 100 60% 600, H:15,400
556 100 60% 15,400
556 400 59%
556 400 59% 9,800
556 400 54% 0,000, 15,900, H:16,400
556 7,400 54% 0,000, £:15.900, H:16,400
556 900 58% 4900, H:15,400
HREFFE) E 558 ,400 56% 15400
556 900 55% H:15.400
556 400 54%
556 400 56%
556 400 59%
JL 556 400 59%
L 556 400 59% ,900
JL 556 400 56% 500
L 556 400 56% ,000
JL 556 400 56% ,900
556 400 56% ,900
556 400 56% ,900
556 400 56% ,900
556 400 56% 600, H:19.900
556 400 59% 600, H:19,500
556 100 60% ,000
556 100 60% : ,000
R CRE) =1a[ FOR CRE) % | JL303 | 55H ,000 66% | A& . H:12,400
JL305 | 558 300 65% | A ,300. £:15,800, H:14.000
JL307 | 558 300 60% [ A . +:16.900, H:14,000
JL309 | 558 300 58% K H:14,000
JL 556 7,300 58% A 7,900,
JL 556 800 59% A& 7,300,
JL 556 100 63% | A 7,300,
JL 556 400 70% |k 5300,
JL319 | 558 400 70% A 5300,
JL321 | 558 400 70% [k 5300, £:14,301
JL323 | 55H 700 [FEES % H:15.300
JL325 | 558 300 65% A& 15,300, H:16.300
JL327 | 558 800 4% A% +:16.900, H:16,300
JL329 | 558 300 3% | A£:16,900. £:20,000, H:17.900
JL331 | 558 300 3% [ AE:16900, %:20,000, H:17,900
JL333 | 558 800 4% | A£:16,900, £:20,000, H:17.900
JL335 | 558 800 4% | A:17,300, £:20,000. +:16,900, H:17.900
[HEES JL300 [ 55H ,100 6% | H:13,400
JL302 | 55H 100 66% | H:13,400
JL304_| 558 700 62%
JL306 | 55H 800 59% 900, B:
JL308 | 55H 300 60% 700
JL 556 300 63% 500
JL 556 400 70% 300, H:14.500
JL 556 400 70% 300, B:15,900
JL 556 800 62% ,900
JL 556 800 62% 900
JL320 | 558 400 70% 1300, H:18,300
32! 55H ,300 63% ,300
JL32 556 300 63% 00
L32 558 ,.900 59%
JL328 | 558 900 61% 9,300, H:18,300
L330 558 ,300 63% 8,300, H:17,300
JL332 | 558 300 65%
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B CRHE) R CRE) % |_JL901 [ 558 ,800 50% +£:20,600, H:18,400
L991 55H ,800 59% :18,400
JL903 | 558 800 59% :18.400
L905 55H ,800 57% 2,400, H:18,900
JL907 | 558 800 57% 2,400, H:18,900
55H ,800 57% 2,400, H:18,900
JL 556 500 60%
L 55H ,500
L 556 700
55H ,700
556 700
558 200 | 62
550 7,200 62%
[ J 55H 7,200 62%
R (R % 55 H A 7,000 63%
558 i 7,000 63%
556 7,400 62%
55 H &l 7,400 62% A
55E 7,200 62% 800, H:18,800
L 55 B Al 00 59% 0
JL 55E 00 58% H:23.200
L FHEE 300 58% :23,200
JL 556 0,100 56% .200
L 55 B Al 100 56% ,200
JL 556 800 59% 200
L 55 B Al 800 59% ,200
556 800 59% .200
55H i 600 59%
KB (BFH =#IRGFFm) | KR (B 55 H A 400 65%
55 B Al 300 67%
55E 300 71%
55E B ,700 66% |%:18,800, H:17.200
ARG FiR) % 55 H A ,000 68% |%& +:17,000
55 H &l ,300 11% H:14,
556 400 65%
55H i 200 65%
KR (BEEE) =4LIE G Fi%) | KB (B9E) % 55 H A 700 68%
55 H &l .800 75%
55E 800 75%
RGTFm F[_J 55 B A 00 75%
556 800 75% | H:12,600
556 700 68% 116,700
KR () =18 KB (B FH % 55H 0,400 58% 0,900
556 0,400 58% :10,900
55H 0,400 58%
556 1,800 52%
[EEES 5508 00 56%
556 00 52%
55H 800 52%
L2060 | 55H 800 52%
KR (B =48 FH) | AREFFHFE [ _JL2081 | 558 1400 55% |4 1:19,200
L2087 | 55H 2,900 66%
RRE (RS % | JL2084 | 55H 4,400 63% | H:16,400
L2088 | 55H 7,400 55% 119,200
BRI =#LI% (i) [EEES | JL3513 | 55H ,600 66% 1:21,000
L3515 | 55H 600 71% £:18,000
AL (BT F %) % |_JL3510 | 558 ,600 71% 8,000
556 00 6% 21,000
FR CRE) =Z%ia31 EEACES 5508 00 7%
556 600 2%
55H 7.600 62%
B 55H 9,600 57% 8,
55H 7.600 62% X
556 7,600 62% 6,
RE CRE) =Rl RRCHE)E [ J 558 6,900 62% f:
556 7,600 60% E:
55H 7.600 60% E:20,
556 5,900 64% 116,500, H:19,000
JOIE: 550 7.300 61%
556 00 65% | H:18,900
55H 00 59% [£:18,900, H:20,800
556 000 59% 118,900, H:20,800
R CHE) =3k HRCPE)FE [_JL541 | 558 500 62% | % £:20,000
L543 | 55H 100 £:18.100
JL545 | 55H 600 %:16,500. H:18.100
ElEES L540 | 55H 600
JL 55H 00
L 556 300 30
RRCRE)=%& RECHE) % [ JL! 5508 .700 59%
L57 556 7,700 59%
JL67 55H 7,700 59%
L579 | 55H 7,700 59% |£:19,700, H:21.700
HILFE JL570 | 55H 7,100 59% |% +:21,600
L572 | 55H 7,700 59% | H:18,700
JL574_| 55H 7.700 59% | H:18,700
L576 | 55H 7,700 59% 119,700, H:21,700
RR (CFIH) =KiE RRE(CHE) % [ _JL585 | 55H 00 53% | % 1:20,000, H:15.200
L587 | 55H 00 55% 119,500, +:19,000, H:17.400
JL589 | 55H 200 57% [£:17.200, H:20,000
WEER L584 | 55H 200 48%
JL586 | 55H 000 52% |%:16,400, £:15900, H:22,100
L588 | 55H 500 53% |£:17,000, £:15.300, H:21,200
RRCPE) =F#% RECHE)%E [ JL 5508 ,800 62%
L 556 800 62%
JL 55H 800 62%
L 556 500 60% | H:14,500
L 55H ,500 60% £ H:14,500
JL151 | 558 800 62% | H:13,800
BHRE L 558 ,800 62%
JL 556 500 60%
L 558 ,500 60%
JL 556 800 2%
L 558 ,.800 2% % H:13,800
556 800 2% |2 H:13,800
WRCRHE) = 558 600 2%
556 600 2%
9 558 ,600 2%
=R% JL154 | 55H 600 2%
6 558 ,600 2%
556 600 2%
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Fm CHE) =HH R (HE) % |_JLI61 | 550 3800 50% | H:12,800
63 55H 4,700 47% % +:15,300
556 0,900 61%
55H 000 49% 3:15,000, £:13.000
HEE 550 000 46% £:16.000
55H 000 49% ,000, H:15,700
556 000 49% 000, H:15,700
558 000 | 46% 100, £:13,000, H:15.300
TR CRE) = /M2 R (HE) % | JL 556 9,500 1
55H 10,500 7 H:9,500
556 500
55H ,500
550 500 % H:10,000
55H 500 £ H:10,000
IR 55 H A 500
558 i 500
556 500
55 B A 500 £ H:10,000
JL 55E 0500
L 55E B 0,000 59% |£:10,500
FOR CRE) =fEWl RECRE) % JL. S5HH 2,200 64%
55 H &l 3,100 61%
JL235 | 5580 0,900 68%
L237 | 55808 00 68%
JL 556 00 60%
L: 55 H &l 00 57% 1:14,100
[ENTES JL: 55 H A 800 65%
L: 55 H &l ,400 60% A% 1:13.800, H:12,800
JL 55E 0,900 68%
L. 55H i 900 68%
55E 800 59% |% H:14,100, £:13.100
55E B ,100 58% |£:14,700
WRCPE) =L RECRE) % 55 H A ,000 62%
55 H &l ,300 53% ,800
556 300 53 800
55 H &l ,000 4 :13,800
556 800 7 H:13,000
55 H &l ,000 2 115,800, H:14,.800
55E 800 7 H:15,800
55 H &l .800 7 H:15,800
LE% 550 ,300 62
556 800 57 300
55H ,000 62% 300, 800,
556 000 62 300, 800,
55H 000 62% 300, 800,
556 800 54 800, 800,
55H 800 51% 17,800, 800,
556 800 54 116,800, £:13,800.
B CRHE) =ILOF8 R CPE) % 5508 ,600 68%
556 900 62% | £.11,500, H:12,000
55H 900 62% |% H:15900
556 900 56% | +:14,900
WOFHHE |[_JL290 | 55H ,600 68%
9 556 000 61% | H:14,400
55H 900 56% |4 H:18,000
556 900 56% |2 H:18,000, £:14,600
R CRHE) =HE RRCPE)FE [ JL277 | 558 600 49%
L279 | 55H 600 49%
JL283 | 55H 200 56%
L285 | 55H 200 53%
JL287 | 55H 000 47% H:19,000
HER L276 | 55H 600 52% £:17,500. H:15.200
JL278 | 55H 600 52% £:17,500, H:15.200
L280 | 55H 200 56% 115,200
JL284 | 55H 500 49% :17,500, H:17.900
L286 | 55H 500 49% 117,500, H:17.900
RRER(PHE) =E5 R CHE)® | JL453 | 558 ,300 63% :11,200
L455 | 55H 300 60% ,200
JL457 | 55H 300 60% 700
L459 | 55H 300 60%
JL461_| 55H 300 60%
L463 | 55H 300 60%
JL465 | 55H 300 60%
BER L452 | 55H 1600 65%
JL454 | 55H 600 62% | H:11,600
56 | 55H 600 62% | H:11,600
JL458 | 55H 1600 65% | H:12,600
L460 | 55H 300 60%
JL 55H 300 60%
L 556 300 63%
RRCRE) =8k RECHE)%E [ JU 5508 ,600 62%
L47 556 300 57% ,900
JL479_| 55H 100 60% |4 100, H:13,600
L481 | 55H 600 62% 00
JL483 | 55H 600 62% |4 00
L485 | 55H 400 60% . £:13.100, H:15,800
JL487 | 55H 800 52% |3 900, +:15.200
EIF L47 55H 800 58% ,900. H:12.500
JL4T 55H 800 55% |4 800, H:13,200
L47 556 100 60% 113,800, H:14,300
[ JLas 55H 100 60% [2:13,800, H:14,300
L482_| 55H 600 59% 114,300, H:16,000
JL484 | 55H 100 54% |%+ H:16,300
L486 | 55H 300 54% H:16,600. £:15.800
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Fm CHE) =m0 R (HE) % |_JL491 | 550 600 61% E.15,700
L493 55H 100 60% 6,200
JL495 | 558 500 67% 5,300
L497 55H ,600 61% 0. H:15,900
JL499 | 558 700 55% 600
ELES L490 55H .600 59% +:15,700
JL492 | 558 100 60% 15,100, £:15.600
L494 55H .500 67% :
JL496 | 558 700 55% 100
[ JL498 55H ,700 55% 100
Fm CAE) =110 R (HE) % |_JL431 | 550 300 63% 300
33 55H ,300 57%
550 300 60%
55H .500 68% :15,300
556 300 54% :18,300, H:18,000
55 H &l ,300 54% 118,300, H:18,000
EATIES JL. 55 H A 500 68% £:15,900
L. 55 H &l ,800 53% ,000, H:14,800
JL 55E 300 60% | H:15,300
L. 55 H &l .800 59% :15,300, H:16.300
JL 55E 300 57% 400, 14,300, H:18,400
L. 55 H &l ,000 66% :17,800, H:17.300
B CRE) =3t AM R CHE) % | JL371_ | 55048 600 62% 4,200
55 H &l ,500 62% 5,700, H:15,000
556 000 64% | A% 115300
55 H &l .600 64% X :15,300
556 600 62% | A 17,000, £:16,600
55 B Al 600 62% X X
TERWE 556 i 800 69% | A 113,800, £:14,500
55 H &l ,600 62% q: 00
55E 100 66%
55H i 100 66%
556 000 59% [ 5:14,900, X7K:14,200, H:15,100
[ J 55E B ,900 H:13,800, :K7k:11,600, H:13500
RRE(RHE) =X5 RROCHE) R [ J 55 B i 500 116,400, F H:14.500
55 B A 500 £ $:16,000, H:14,500
556 500 £ 16,000, H:14500
558 i 500
55E 000 60% :15,000
55 H &l ,000 60% :15,000, H:16,400
xS 55H 100 65% :13,500
556 100 65% 6,400
556 500 64%
556 500 64%
556 400 59% 6,000
556 000 60% 116,400, £:15,500
R CRE) =R& EEACES 5508 ,900 64% . B:15,500
556 800 61% 900, B:15,500
556 500 62% 1900, H:17.300
556 300 65% 900
556 300 65% 900
556 500 7 ,900. H:16.800
% 550 500 7% X
556 500 7 3.16,000
556 500 % :16,000, H:17.000
556 500 7 116,000, H:17.000
556 300 60% H:17,000
556 900 64% 800, H:17,900
B CRHE) =REX EEACES 5508 ,600 69% 500
556 600 69% 500
556 600 69% 500
556 600 69% ,000
556 600 69% 13,
556 600 69% 3:13,000
556 600 69% :13,500, H:14.000
556 600 69% 3.14,500
556 600 69% H:14,500
EAR 55H 600 69% 113,000, £:14,000
556 000 66% | JKA:13,500, H:12,600
556 000 66% JKA:13,500, H:12.600
556 600 69% | H:14,000
556 600 69% ,000
556 600 69% 000
556 600 69% 000, 13,500, H:14,500
556 500 67% 000, £:12,600, H:14,500
556 500 67% 000, £:12,600, H:14,500
RRE(CRHE) ==k RRCHE)E [ J 558 500 65% 301
556 800 59% 7.300
556 800 59% 7,300
556 000 61% 116,300
556 300 60% 6,000, H:17.300
556 500 65% 8,300, H:17.300
EEES 5508 500 65% £:15,900
556 300 60%
556 700 62% | H:17,300
556 500 65% H:17,300
556 300 58% [£:18,300, £:16,300
556 000 61% 8,300, £:15,300, H:16,800
RR(PE) =ERE RECHE)%E [ JL 5508 ,600 69% 4,500
L 556 500 64% £:16.900, H:13.600
JL 556 700 62% 7,800, H:13.600
L 556 600 69% 5,500, % £:16,900, H:16.000
JL649 | 55H 600 69% 4,700, H:16,000
L651 | 55H 600 69% H:16,600
JL653 | 55H 700 64% 6,000, 15,000, H:16,600
L655 | 55H 700 64% |2 H:16,000, £:13,600
ERBE L 558 ,600 69%
JL 556 500 67% 15,200, £:15.700
L 558 .500 67% #:15,500, £:15.700
JL 556 600 69% 15500, £:15.700
L 558 ,500 #£:15,900, +:15.700, H:16.100
JL650 | 558 000 F1:16,900, £:15.800
652 558 ,.800 %:16,400, H:16,900
JL654 | 558 800 116,400, £:15,000, H:16.900
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RR(PH) —BEAE | RECHE)E | JL659 | 550 800 68% |2 £:19.800. H:18.800
| [ #|EXB® [ J658 | 55H 800 68% |5 H:19,800
FOR (RRE) =KBR () | BRR(EHE) S [ _JL3005 | 55H ,600
[ JL3007 | 55H .600
AR (FFFH % | _JL3002 | 55H ,600
[ JL3006 | 55H 1600
R (RRE) =#LIR G F i) | BUR (FH) % 55H 400 K:18,500, £:20.000, £:15,900. H:16.400
| [HRGHT®E) E] 55H 400 56% | +:16,900, H:15,400
RR(RRE) =2TE(PE) | BN (FRHE) % 558 400
55H 400
AEE (R R J 55H 400
55H 400
FR (R E) =18R BUR (FRH) 5 55H ,800 115,900, F:14,300. H:16.300
FEGES 558 ,100 6% :12,400
PNACIET AR (B FE [ JL 55 H A 00 56% +£:20.600. H:18,100
FREEF L 55E B 00 56% :20,100, £:18,000, H:20,600
PNACZES AR (B 5 [JL 55 H A ,900 56% ,400, H:16.500
L. 55 i 7,900 56% 400, H:16,500
JL 55E 7,600 7 :18,000
BHRR 52 | 55H Al 7,600 7 +16,200
[ JL2154 | 558 % 6,200 1
L2158 | 55H 7 7,600 7 000, 16,200
KR () =FE AR (D% [ JL217 55 H A 00 H:14.100
L2173 | 5587 00
JL2179 | 55B % 600 H:15.100
FERE L217 55E B ,600 114,100
JL2174 | 5587 600 100
L2176 | 5587 600 100
AR (B =il& R (FFH % [ JL2201 | 558 ,300 59% 800
03 | 5588 300 59% 00
[ JL2205 | 558 % 300 59% 100
L2207 | 5587 800 63% 00
JL2209 | 55H 7 100 59% 100
L2211 | 5587 300 5 800, 115,800, H:18,100
JL2213 | 55H 7 800 400, £:15.800, H:18,500
(=3 L220( 55E B ,800 ,800
JL2202 | 55H 7 800 800
L2204 | 5587 400 53 300, H:16,300
JL2206 | 55H 7 400 53% 6.800, H:17.300
L. 558 i 200 59% 17,100, 500, H:17,300
JL: 556 800 57% 00, 600, 17,300
L2212 | 55H 800 57% 118,100, .100, H:16,100
KR (B =% KB (A% | JL22 558 600 55% | H:12,100
556 600 55% 112,100
55H 100 63% H:13,100. 113,600
556 600 55% 115,100, £:13,600, H:15,600
FEES JL2240 | 55H 600 55%
[ JL2244 | 55H 00 63% |2 H:12,600, £:13,900
[ JL2248 | 55H 00 63% |2 113,400, H:13500
L2250 | 55H 100 60% |£:14,100, £:11.900, H:15,100
KR (B =#21l AR (B % [ _JL2301 [ 558 0,500 45%
L2305 | 55H 0,400 45%
JL2309 | 55H 9.900 48%
[ATIES L2302 | 55H 9.900 48%
JL2306 | 55H 00 45%
10 | 558 200 1
KR(BFH =K% AR (FFH % | _JL2361 [ 558 ,600 7% +:14,100, B:12,100
L2365 | 55H 100 9 £ H:13,600
JL2367 | 55H 700 7% : :14.400
R5F | _JL2362 | 55H 700 7 :12.600
JL2364 | 55H 100 9% :14.400
L2366 | 55H 100 35% 3,100
KR (B =R AR (A% | _JL237 55H 500 53% 3,100
L2373 | 55H 500 53% :13,100
JL2375 | 55H 800 59% 2,300, £:13,400. H:13,300
L2377 | 55H 800 56% 3.14,100
% JL237. 550 ,800 56%
L2374 | 55H 800 59%
JL2376 | 55H 800 59% |4
JL2378 | 55H 800 59% 00, H:13.400
KB () =ReX KB (A% | _JL2383 | 558 ,900 59% ,100
[ _JL2385 | 55H 2,500 52% ,800. H:13.500
JL2389 | 55H 0,900 59% 800
BAR [ JL2382 | 55H 0,900 59%
[ JL2386 | 55H 400 49% 500, £::13.700, H:13,.800
JL2392 | 55H 300 49% 800
AR (B == KBR(FH % [ _JL2431 | 558 600 44%
[ JL2433 | 55H 100 43%
JL2437 | 55H 100 58% :16.100
JL2441 | 55H 100 46% 116,100
JL2443 | 55H 100 16% |3 :16.100
B JL2430 | 55H ,600 48% 5,600
JL 55H 600 48% |3 5,100, H:15,600
JL 556 900 43% 15, 115,900
JL 55H 900 43% %15, :16.200
JL 556 400 41% 3 ,900
AR (B =ERS ABR(BEFH % [ JL 55H ,400 55% |&t: . B:12,800
JL2403 | 55H 400 55% £:14,800. H:12.800
JL2407 | 55H 400 55% |2 114,800, H:12.800
JL2409 | 55H 900 64% 800, H:13.400
JL 55H 300 59% ,400
JL 556 300 59% ,400
JL 55H 800 57% 400, £:12,300, H:13,.800
EREX JL: 55H ,900 4 ,800
JL2402 | 55H 900 4% 800
JL2404 | 55H 100 38 ,400
L. 55H 100 3 400
JL 556 800 1 800
L2412 | 558 800 7 800, H:14,300
JL2414 | 55H 800 7 114,800, H:14.300
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JL3538

EE#EAE 2015/1/29  ~
6/5-11
X #4 e
R (B =&BZXE AR (B % | L2465 B
| | #BEXB® L2464 B
A E (FER) =A% (FFak) EE (P& F[_JL3103 | 5] 1,600, H:19.100
L3105 5]
JL3107 E
L3115 5]
JL3117 E
FLBR G F %) [ _JL3100 [ 558
JL3106 E
L. 5] :20,600, H:20,900
JL E :20,600, H:20,900
L. 5] :21,600
I FFR) =%mal | IR GRFm) R H
BE
EE]
ESTHES =i
EE]
B #i
EE] ;
IR FFR) =FHF ALIR G F i) 3 |_JL: EE 0,
EE] 0
EEd 0,
BRE BBl 0,
EEd 0,
EE]
FLOR (B F k) =FE AR FTm = | _JL EE
EEi H:16,300
EEd H:16,300
FERE EE] £1:16,300
EEd
EE]
FR=ALIR TR RS EE & +:18,400, H:15400
| JL2876 | 55BF ££:15000
FLIR G F i) % H A
EEi :18,100
WE=HREFFH wasx EE] 120,300, B:15.400
EE] ; £:19,300, H:15,400
B 0, £:16.500
EEi 0.4 :17,900, H:15.900
E 5. K 516,300, %:18,900
HRGEFR FE[ B 5,400, 1:17.400
E H:15.400
E 7,300
E 6300, H:19,900
E 6,300, H:19,900
TRB=HLI% FFiR) PREES B
ARG TR E| J B 1800, H:22,200
BE=TE RER =
WE% L3530 | 558




[Z—/% 3 6H12H~30

EE#EAE 2015/1/29  ~
6/12-30
FH [
= B2 \mawm| sma | 2EM i
RE(CRE) =Xk (D) R CHE) % JL101 55H 9,500 62%
L103 55H 9,900 61% £:10,100, £:10,400
JL107 | 558 1,800 53% A%t
L 55H 1,800 53% S
JL 550 0,900 57% |A&
L 55H 0,900 7 S
JL 556 0,900 EES
L 55H 9,900 1 S
JL 556 9,900 EES
L 55H 00 3! S
JL 556 00 53% A&
L131 55H 00 53% S
JL133 | 558 800 53% A
L137 55H .800 53% X
JL139 | 5580 800 53% A
ENHCGZEES L10; 55H & 400 55% :
JL104_| 5580 800 53% [ A:
L 55E B ,800 49% |H:
JL 55E 800 49% | A:
L 55E B ,800 9 A:
JL 55E 0,900 7% |89
L 558 i 900
JL 556 900
L 558 i 900
JLi24 | 55806 900
6 | 5587 900
JL128 | 5580 00 ,
L 55 H &l 11,800 53 ,.300, H:12,800
JL 55E 11,800 53% 400, £:10,300, H:12,800
L 55 H &l 11,800 53% ,400, 1:10,300, H:12,800
FOR CRE) =Kk (B#) | ®RRCAE)FE [ JL 55 H A 9,500 62%
L: 55 H &l 11,800 53% A:13,100, £:13,400. H:12,800
AR (BE) % | _JL220 | 558G 8,100 68%
L228 55 H &l .800 53%
RRCHE) =HIEGFm) | RRCAB)HE | JL501 | 55B 700 66% ,700, H:11,600
595 55 H &l 600 56% ,400
JL503 | 5580 600 56% 400
505 55 H &l ,400 56% 500, H:15,100
JL507 | 5580 000 52% 100
L5 55 H &l ,000 52% 00
JL 556 000 52% :15.100
L 556 400 56% 500, £:18,000, H:15.100
JL 556 600 58% 000, H:15,400
L 556 600 58% 000, H:15,400
556 100 60% 600, H:15,400
556 100 60% 15,400
556 400 59%
556 400 59% 9,800
556 400 54% 0,000, 15,900, H:16,400
556 7,400 54% 0,000, £:15.900, H:16,400
JL531 | 558 900 58% 4900, H:15,400
HREFFE) E L50 55H ,400 56% 15400
JL502 | 55H 900 55% H:15.400
L596 | 55H 400 54%
JL504 | 558 400 56%
L506 | 55H 400 59%
JL 556 400 59%
L 556 400 59% ,900
JL 556 400 56% 500
L 556 400 56% ,000
JL 556 400 56% ,900
556 400 56% ,900
556 400 56% ,900
556 400 56% ,900
556 400 56% 600, H:19.900
556 400 59% 600, H:19,500
556 100 60% H:18,000
556 100 60% . H:18,000
R CRE) =1a[ HRCPE) % [_JL303 | 558 ,000 66% |4 . H:12,400
L305 | 55H 300 65% 115,300, £:15,800, H:14,000
JL307 | 558 300 60% | A2:16,800, £:16,900. H:14,000
L309 | 55H 300 58% |4 H:14,000
JL 55H 7,300 58% |4 7900, H:14,000
L 556 800 59% |4 7,300, H:14,300
JL 55H 100 63% |4 7300, H:14,300
L 556 400 70% E :14,300
JL319 | 558 400 70% |2 +:15,300, H:14,300
L321 | 55H 400 70% 115,300, £:14,300, H:14,800
JL323 | 55H 700 67% |2 4800
L325 | 55H 300 65% :14,800, H:16,300
JL327 | 558 800 4% |2 H:16.300
1329 | 55H 300 FES 0,000, 00, H:17.900
JL331 | 558 300 3% A5, 0,000, 00, H:17,900
L333 | 55H 800 4% | A:15,800, £:20,000. 00, H:17.900
JL335 | 558 800 4% | K:17,300, £:20,000, 00, H:17,900
[HEES L300 | 55H ,100 6% | H:12,400
JL302 | 55H 100 66% | H:12,400
L304_| 55H 700 62% | H:14,100
JL306 | 55H 800 59% | A% 100
L308 | 55H 300 60% A& 800, 500
JL 556 300 63% A 800, 500
L 556 400 70% 300, 500
JL 556 400 70% 300, ,900
L 556 400 70% 800, ,900
JL 556 400 70% 800, 900
[ JL320 | 55H 400 70% 7.300, *:15,800, H:18,300
32! 55H ,300 63% 800, ,300
JL32 556 300 63% 800, 300
L32 558 ,.900 59% 800, ,300
JL328 | 558 900 61% 800, 300
L330 558 ,300 63% 118,300, 800, 300
JL332 | 558 300 65% 15900, £:15.800
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EE#EAE 2015/1/29  ~
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FH [
= B2 \mawm| sma | 2EM i
Fm CHE) R (HE) % |_JLo01 | 550 500 53%
L991 55H .500 53%
JL903 | 558 500 53%
L905 55H .500 53%
JL907 | 558 500 53%
55H .500 53%
JL 556 0,400 55%
L 55H ,400 55% :
L 556 900 59% 500, H:21.700
55H ,900 59% 500, H:21,700
556 900 59% 500, H:21,700
55H ,400 58% .100
550 400 58% .100
[ J 55H 400 58% ,200
R (R % 55 H A ,400 58%
55H i 200 58%
556 400 58%
55H i 200 58%
55E 900 57% H:21,500
L 55H i 600 53%
JL 55E 000 52% H:24.300
L 55 H &l ,000 52% :24,300
JL 556 800 50% 300
L 55 H &l ,800 50% ,300
JL 556 500 53% 300
L 55 H &l .500 53% ,300
556 500 53% 300
55 H &l .200 54%
KB (BFH =#IRGFFm) | KR (B 55 H A ,500 60%
55H i 300 65%
55E 900 68%
FHEE 700 64%
ARG FiR) % 55 H A ,000 65%
55 i 900 68%
556 500 60%
55 B Al 500 60%
KR (BEEE) =4LIE G Fi%) | KB (B9E) % 55 H A 200 65%
55 H &l ,800 70%
55E 800 70%
RGTFm F[_J 55 B A 00 70%
556 00 70%
556 600 64%
KR () =18 KB (B FH % 55H 0,400 58%
556 0,400 58%
556 0,400 58%
556 1,800 52%
[EEES 5508 00 56%
556 00 52%
556 800 52%
L2060 | 55H 800 52%
KR (B =48 FH) | AREFFHFE [ _JL2081 | 558 500 49% | % 1:22,400
L2087 | 55H 400 60%
RRE (RS % | JL2084 | 55H ,900 59% | H:18,000
L2088 | 55H 500 49% | H:22,400
BRI =#LI% (i) [EEES | JL3513 | 55H ,600 66% 1:21,000
L3515 | 55H 600 71% £:18,000
AL (BT F %) % |_JL3510 | 558 ,600 71% 8,000
556 00 6% 21,000
FR CRE) =Z%ia31 EEACES 5508 00 7%
556 600 2%
556 7,600 62% 000, H:20.100
B 55H 9,600 57% 8,600, H:23.200
556 7,600 62% 6,600, H:21.200
556 7,600 62% | +£:16,600, H:22.100
FR CRE) =Rl R CRE) % 5508 6,900 62% £:20,900, H:16.100
556 7,600 60% £:20,400, H:18,000
556 7,600 60% :20,400, H:18.000
556 5,900 64% 6,500, H:19,000
JOIE: 550 7.300 61%
556 00 65% | H:18,900
556 00 59% [£:18,900, H:20,800
556 000 59% 118,900, H:20,800
TR CRE) =% HRCPE)FE [_JL541 | 558 500 62% | % £:20,000
L543 | 55H 100 £:18,100
JL545 | 558 600 %:16,500, H:18.100
ElEES L540 | 55H 600
JL 556 00 E
L 556 300 3% |H:
RRCRE)=%& RECHE) % [ JL! 5508 .700 5%% |&
L57 556 7,700 59%
JL67 55H 7,700 59%
L579 | 55H 7,700 59% |£:19,700, H:21.700
HILFE JL570 | 55H 7,100 59% |% +:21,600
L572 | 55H 7,700 59% | H:18,700
JL574 | 558 7,700 59% | H:18,700
L576 | 55H 7,700 59% 119,700, H:21,700
RR (CFIH) =KiE RRE(CHE) % [ _JL585 | 55H 00 53% | % 1:20,000, H:15.200
L587 | 55H 00 55% 119,500, +:19,000, H:17.400
JL589 | 558 200 57% [£:17.200, H:20,000
WEER L584 | 55H 200 48%
JL586 | 558 000 52% |%:16,400, £:15900, H:22,100
L588 | 55H 500 53% |£:17,000, £:15.300, H:21,200
RRCPE) =F#% RECHE)%E [ JL 5508 ,800 62%
L 556 800 62%
JL 556 800 62%
L 556 500 60% | H:14,500
L 55H ,500 60% £ H:14,500
JL151 | 558 800 62% | H:13,800
BHRE L 558 ,800 62%
JL 556 500 60%
L 558 ,500 60%
JL 556 800 62%
L 558 ,.800 62% % H:13,800
JL 556 800 62% |2 H:13.800




°
R—s% 5 6H12H~30
EE#EAE 2015/1/29  ~
6/12-30
FH J—
= B2 \mawm| sma | 2EM i
Fm CHE) = Rm (HE) % |_JLI 55H 600 62%
55H 600 62%
556 600 62%
ZIR% 55H ,600 62%
550 600 62%
55H 600 62%
Fm CHE) =FH Row CHE) 5 55H 800 50% | H:12,800
L1 55H 700 47% % +:15300
JL165 | 558 900 61%
L 55H 000 49% 5:15,000, £:13,000
BEX 55H 000 46% £:16,000
55H 000 49% 115,000, H:15.700
550 000 49% 115,000, H:15.700
556 000 6% 16,100, £:13,000, H:15,300
FUR CRIE) =/Ma RECRE) % 55 H A 9,500 1
558 i 10,500 7% | H:9,500
556 500
558 i 500
55E 500 % H:10,000
55 B A 500 £ H:10,000
INAFE 55E 500
558 i 500
556 500
55 B A 500 £ H:10,000
JL 556 0500
L 55E B 0,000 59% |£:10,500
FOR CRE) =Wl RECHE) % [ JL 55 H A 2,200 64%
558 i 3,100 61%
JL235 | 5580 0,900 68%
L237 | 55808 00 68%
JL 55E 00 60%
L. 558 i 00 57% | F:14,100
[ENTES JL: 55 H A 800 65%
L. 55 i 400 60% | £:13,800, H:12,800
JL 556 0,900 68%
L. 55H i 900 68%
556 800 59% |% H:14,100, £:13.100
[ J 55 B A ,100 58% [£:14,700
RRE(PHE) =LK5 RROCHE) SR [ J 55 B i ,000 62%
558 i 300 53% 800
556 300 53 800
556 000 4 800
55H 800 7% | H:13,000
556 000 2 115,800, H:14,800
55H 800 7% H:15,800
556 800 7 515,800
RE% 5508 ,300 62%
556 800 57 113,300
55H ,000 62% 115,300, 800,
556 000 62 115,300, 800,
55H 000 62% 115,300, 800,
556 800 54 116,800, 800,
55H 800 51% 17,800, 800,
556 800 54 116,800, 800,
B CRHE) =ILOF8 R CPE) % 5508 ,600 68%
556 900 62% | £.11,500, H:12,000
55H 900 62% |% H:15900
556 900 56% | +£:14,900
I=E=F3 5508 ,600 68%
556 000 61% | H:14,400
55H 900 56% |4 H:18,000
556 900 56% |2 H:18,000, £:14,600
R CRHE) =HE EEACES 550 ,600 49%
556 600 49%
55H 200 56%
556 200 53%
55H 000 47% H:19,000
HER 556 600 52% £:17,500. H:15.200
558 600 52% |2 1:17.500, H:15200
556 200 56% | H:15,200
55H 500 49% (217,500, H:17.900
556 500 49% | #:17,500, H:17.900
RRER(PHE) =#5 RRE(CHE) % [ _JL453 | 55H ,300 63% |H
55 | 550 300 60%
JL457 | 55H 300 60%
L459 | 55H 300 60%
JL461_| 55H 300 60%
L463 | 55H 300 60%
JL465 | 55H 300 60%
BER L452 | 55H 1600 65%
JL454 | 55H 600 62% | H:11,600
56 | 550 600 62% | H:11,600
JL458 | 55H 1600 65% | H:12,600
L460 | 55H 300 60%
JL 55H 300 60%
L 556 300 63%
RRCHE) =51 RECHE) % [ JU 5508 ,600 62%
L47 556 300 57% £:14,900
JL479_| 55H 100 60% |2 114,100, H:13600
L481 | 55H 600 62% H:13,600
JL483 | 55H 600 62% |% H:13,600
L485 | 55H 400 60% 114,900, £:13,100, H:15,800
JL487 | 55H 800 52% |2 H:16,900, £:15200
EF L47 55H 800 58% £:14,900. H:12.500
JL4T 55H 800 55% |% 115800, H:13.200
L47 556 100 60% 113,800, H:14,300
L48 55H 100 60% [£:13,800, H:14,300
JL482_| 558 600 59% 114,300, H:16,000
L484 | 55H 100 54% |%+ H:16,300
[_JL4g6 | 55H 300 54% H1:16,600. £:15.800




[Z—/% 3 6H12H~30

SEE®AE ;. 2015/1/20 ~
6/12-30
FH [
= B2 \mawm| sma | 2EM i
Fm CHE) =m0 R (HE) % |_JL491 | 550 600 61% £:15.700
L493 55H 100 60% & 6,200
JL495 | 558 500 67% 5,300
L497 55H ,600 61% 0. H:15,900
JL499 | 558 700 55% 600
S | _JL490 | 558 ,600 59% £:15,700
JL492 | 558 100 60% 15,100, £:15.600
L494 55H .500 67% :
JL496 | 558 700 55% 100
[ JL498 55H ,700 55% 100
Fm CAE) =110 R (HE) % |_JL431 | 550 300 63% 300
33 55H ,300 57%
550 300 60%
55H .500 68% :15,300
556 300 54% :18,300, H:18,000
55 H &l ,300 54% 118,300, H:18,000
EATIES JL. 55 H A 500 68% £:15,900
L. 55 H &l ,800 53% ,000, H:14,800
JL 55E 300 60% | H:15,300
L. 55 H &l .800 59% :15,300, H:16.300
JL 55E 300 57% 16,400, F:14,300. H:18,400
L. 55 H &l ,000 66% :17,800, H:17.300
B CRE) =3t AM HRCRE)FE [ JL371 | 558 ,600 62% | H:14,200
55 H &l ,500 62% 115,700, H:14,100
556 000 64% £:15,300. H:14.500
55 H &l .600 64% +:15,300
556 600 62% :16.600, £:17.000
55 H &l ,600 62% 1£:16,500
EZXIES 55E 800 69% :14,500, £:13.800
55 H &l ,600 62% :13,500
55E 100 66%
55H i 100 66%
556 200 65% | 7:14,000, 2 £:17.000. H:15,100
[ J 55E B ,600 7 H:13,800, & F:15,900, B:13,500
RRE(RHE) =X5 RROCHE) R [ J 55 B i 500 116,400, F H:14.500
55 B A 500 £ $:16,000, H:14,500
556 500 £:16,000. H:14.500
558 i 500
55E 000 60% :15,000
55 H &l 000 60% :15,000, H:16,400
RH% 556 100 65% :13.500
556 100 65% 6,400
556 500 64%
556 500 64%
556 400 59% 6,000
556 000 60% 116,400, £:15,500
R CRE) =R& EEACES 5508 900 64% . B:15,500
556 800 61% 900, B:15,500
556 500 62% 1900, H:17.300
556 300 65% 900
556 300 65% 900
556 500 7 ,900. H:16.800
% 550 500 7 16
556 500 7 3.16,000
556 500 % :16,000, H:17.000
556 500 7 116,000, H:17.000
556 300 60% H:17,000
556 00 64% 800, H:17,900
B CRHE) =REX EEACES 5508 00 69% 500
556 00 69% 500
556 600 69% 500
556 00 69% ,000
556 600 69% 13,
556 600 69% 3:13,000
556 600 69% :13,500, H:14.000
556 600 69% 3.14,500
556 600 69% H:14,500
EAR 55H 600 69% 113,000, £:14,000
556 000 66% | JKA:13,500, H:12,600
556 000 66% JKA:13,500, H:12.600
556 600 69% | H:14,000
556 600 69% ,000
556 600 69% 000
556 600 69% 000, 13,500, H:14,500
556 500 67% 000, £:12,600, H:14,500
556 500 67% 000, £:12,600, H:14,500
RRE(CRHE) ==k RRCHE)E [ J 558 500 65% 301
556 800 59% 7.300
556 800 59% 7,300
556 000 61% 116,300
556 300 60% 6,000, H:17.300
556 500 65% 8,300, H:17.300
EEES 5508 500 65% £:15,900
556 300 60%
556 700 62% | H:17,300
556 500 65% H:17,300
556 300 58% [£:18,300, £:16,300
556 000 61% 8,300, £:15,300, H:16,800
RR(PE) =ERE RECHE)%E [ JL 5508 ,600 69% 4,500
L 556 500 64% £:16.900, H:13.600
JL 556 700 62% 7,800, H:13.600
L 556 600 69% 5,500, % £:16,900, H:16.000
JL649 | 55H 600 69% 4,700, H:16,000
L651 | 55H 600 69% H:16,600
JL653 | 55H 700 64% 6,000, 15,000, H:16,600
L655 | 55H 700 64% |2 H:16,000, £:13,600
ERBE L 558 ,600 69%
JL 556 500 67% 115,200, £:15.700
L 558 .500 67% #:15,500, £:15.700
JL 556 600 69% 15500, £:15.700
L 558 500 #£:15,900, +:15.700, H:16.100
JL650 | 558 000 F1:16,900, £:15.800
652 558 ,.800 %:16,400, H:16,900
JL654 | 558 800 116,400, £:15,000, H:16.900




°
R—s% 5 6H12H~30
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RR(PH) —BEAE | RECHE)E | JL659 | 550 7.800 66% |2 £:20,800. H:19.800
| [ #|EXB® [ J658 | 55H 7,800 66% |5 H:19,.800
FOR (RRE) =KBR () | BRR(EHE) S [ _JL3005 | 55H ,600
[ JL3007 | 55H .600
AR (FFFH % | _JL3002 | 55H ,600
[ JL3006 | 55H 1600
R (RRE) =#LIR G F i) | BUR (FH) % 55H 400 K:18,500, £:20.000, £:15,900. H:16.400
| [HRGHT®E) E] 55H 400 56% | +:16,900, H:15,400
RR(RRE) =2TE(PE) | BN (FRHE) % 558 400
55H 400
AEE (R R J 55H 400
[ 55H 400
FR (R E) =18R RE(RE)E | J 55H ,800 115,900, F:14,300. H:16.300
FEGES 558 ,100 6% :12,400
PNACIET AR (B FE [ JL 55 H A 00 56% +£:20.600. H:18,100
FREEF L 55E B 00 56% :20,100, £:18,000, H:20,600
PNACZES AR (B 5 [JL 55 H A ,900 56% ,400, H:16.500
L. 55 i 7,900 56% 400, H:16,500
JL 55E 7,600 7 :18,000
BHRR 52 | 55H Al 7,600 7 +16,200
[ JL2154 | 558 % 6,200 1
L2158 | 55H 7 7,600 7 000, 16,200
KR () =FE AR (D% [ JL217 55 H A 00 H:14.100
L2173 | 5587 00
JL2179 | 55B % 600 H:15.100
FERE L217 55E B ,600 114,100
JL2174 | 5587 600 100
L2176 | 5587 600 100
AR (B =il& R (FFH % [ JL2201 | 558 ,300 59% 800
03 | 5588 300 59% 00
[ JL2205 | 558 % 300 59% 100
L2207 | 5587 800 63% 00
JL2209 | 55H 7 100 59% 100
L2211 | 5587 300 5 800, 115,800, H:18,100
JL2213 | 55H 7 800 400, £:15.800, H:18,500
(=3 L220( 55E B ,800 ,800
JL2202 | 55H 7 800 800
L2204 | 5587 400 53 300, H:16,300
JL2206 | 55H 7 400 53% 6.800, H:17.300
L. 558 i 200 59% 17,100, 500, H:17,300
JL: 556 800 57% 00, 600, 17,300
L2212 | 55H 800 57% 118,100, .100, H:16,100
KR (B =% KB (A% | JL22 558 600 55% | H:12,100
556 600 55% 112,100
55H 100 63% H:13,100. 113,600
556 600 55% 115,100, £:13,600, H:15,600
FEES JL2240 | 55H 600 55%
[ JL2244 | 55H 00 63% |2 H:12,600, £:13,900
JL2248 | 55H 00 63% |2 113,400, H:13500
L2250 | 55H 100 60% |£:14,100, £:11.900, H:15,100
KR (B =#21l AR (B % [ _JL2301 [ 558 0,500 45%
L2305 | 55H 0,400 45%
JL2309 | 55H 9.900 48%
[ATIES L2302 | 55H 9.900 48%
JL2306 | 55H 00 45%
10 | 558 200 1
KR(BFH =K% AR (FFH % | _JL2361 [ 558 ,600 7% +:14,100, B:12,100
L2365 | 55H 100 9 £ H:13,600
JL2367 | 55H 700 7% : :14.400
R5F | _JL2362 | 55H 700 7 :12.600
JL2364 | 55H 100 9% :14.400
L2366 | 55H 100 35% 3,100
KR (B =R AR (A% | _JL237 55H 500 53% 3,100
L2373 | 55H 500 53% :13,100
JL2375 | 55H 800 59% 2,300, £:13,400. H:13,300
L2377 | 55H 800 56% |% H:14,100
% JL237. 550 ,800 56%
L2374 | 55H 800 59%
JL2376 | 55H 800 59% |4
JL2378 | 55H 800 59% 00, H:13.400
KB () =ReX KB (A% | _JL2383 | 558 ,900 59% ,100
[ _JL2385 | 55H 2,500 52% ,800. H:13.500
JL2389 | 55H 0,900 59% 800
BAR [ JL2382 | 55H 0,900 59%
[ JL2386 | 55H 400 49% 500, £::13.700, H:13,.800
JL2392 | 55H 300 49% 800
AR (B == KBR(FH % [ _JL2431 | 558 600 44%
[ JL2433 | 55H 100 43%
JL2437 | 55H 100 58% :16.100
JL2441 | 55H 100 46% 116,100
JL2443 | 55H 100 16% |3 :16.100
B JL2430 | 55H ,600 48% 5,600
JL 55H 600 48% |3 5,100, H:15,600
JL 556 900 43% 15, 115,900
JL 55H 900 43% %15, :16.200
JL 556 400 41% 3 ,900
AR (B =ERS ABR(BEFH % [ JL 55H ,400 55% |&t: . B:12,800
JL2403 | 55H 400 55% £:14,800. H:12.800
JL2407 | 55H 400 55% |2 114,800, H:12.800
JL2409 | 55H 900 64% 800, H:13.400
JL 55H 300 59% ,400
JL 556 300 59% ,400
JL 55H 800 57% 400, £:12,300, H:13,.800
EREX JL: 55H ,900 4 ,800
JL2402 | 55H 900 4% 800
JL2404 | 55H 100 38 ,400
L. 55H 100 3 400
JL 556 800 1 800
L2412 | 558 800 7 800, H:14,300
JL2414 | 55H 800 7 114,800, H:14.300
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T s
= B2 \mawm| sma | 2EM i
R (B =&BZXE RER(FFFDSE | JL2465 | 55H 500 62%
BERER L2464 | 558 500 2
A E (FER) =A% (FF&%)| &&= (h&8)F[_JL3103 | 558 400 4 1,600, H:19.100
L3105 55H ,000 7
JL3107 | 55H 300 1
L3115 55H 700 65%
JL3117 | 55H 700 65%
AL (BT F ) 5 [_JL3100 | 55H 300 59%
JL3106 | 55H 000 62%
L. 55H ,800 55% :20,600, H:20,900
JL 556 800 55% :20,600, H:20,900
L. 55H ,400 54% :21,600
I FFR) =%mal | IR GRFm) R 55H ,900 50%
556 000
556 000
558 i 000
S ED 556 000
558 i 000
55E 00
55 B Al 900 50%
IR FFR) =FHF ALIR G F i) 3 |_JL: 55 H A 0,900 55%
558 i 0,900 55%
556 0,900 55%
BHRR 55 B A 0,900 55%
556 0,900 55%
[ J 55H i 00 55%
FLOR (B F k) =FE ALIR G F i) 3 | JL: 55 00 50%
55 H &l 00 45% H:16,300
55E 200 45% | H:16,300
HERE 55H i 200 45% [ 2£1:16,300
55E 800 50%
FHEE 800 50%
FR=ILR (F TR FRE 556 400 50% |2 118,400, H:15400
[ JL2876 | 558 ,400 56% [ +:15000
ARG FiR) % 55 H A 400 56%
55 H &l ,000 52% :18,100
e =#LI% i) (=S 55 H A 300 49% £:20.300. H:15.400
558 i 300 49% £:19,300, H:15,400
55E 0,600 67 £:16.500
55 H &l 0,600 67" :17,900, H:15.900
556 5,400 52% | A H:16.300, %:18.000
HRGEFR FE[ 55H ,600 67 5,400, 1:17.400
556 800 50% H:15.400
556 800 54% 7.300
556 300 43% 6300, H:19,900
556 900 44% 6,300, H:19,900
RE=HIRFHFiR) PES 55H .100 59%
ARG TR E| J 55H ,100 50% 1800, H:22,200
BE=la [EEES 55H ,900 59%
37 | 558 700 62%
[IE=ES | JL3530 | 55H ,700 62%
JL3538 | 55H 19,900 59%
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RE(CRE) =Xk (D) R CHE) % JL101 75H 9.300 3%
L103 | 75H 9,500 2%
JL107 | 758 1,600 4% | K:12,600
L 758 1,600 4% | A:12,600
JL 756 0,400 59% | A:11,600
L 758 0,400 59% | A:11,600
JL 756 0,400 59% | A:10,900
L 758 9,500 62% 710,100
JL 756 9,500 62% | A:10,100
L 758 1600
JL 756 600 R:13,100
Li31_| 758 1600 :13,100
JL133 | 758 600 A:13,100
Li37 | 758 1600 K:13,100
JL13 T5E % 600 R:13,100
RBx (7 F L10; 758 ,900 112,600
JL10 T5E % 600 4% | H:13,100
L 756 600 50% | H:13,100
JL FHEES 00 50% | :13,100
L 756 00 50% | H:13,100
JL T5E % 0,400 59%
L 75B i 500 62%
JL T5E % 500 62%
L 75B i 500 62%
JLi24 | 7588 500 62%
6 | 758 500 62%
JL128 | 7586 500 62
L 756 11,600
JL T5E % 11,600
L 756 11,600
FOR CRE) =Kk (B#) | ®RRCAE)FE [ JL 758 9,300 63
L. 75B i 11,300 55% | 412,500
KRR (BE) % | JL220 | 757 7,800 69%
L228 | 75H7 300 55%
RRCHE) =HIEGF) | RRCAE)HE [ JL501 | 758 .200 70%
L595 | 757 300 62%
JL503 | 7586 300 62%
L505 | 75H % 700 61% | 715,400
JL507 | 7586 700 55%
L5 756 700 55%
JL 756 700 55%
L 756 700 61% | A:15,400
JL 758 400 62%
L 756 400 62%
JL519_| 75H 400 62%
L521 | 758 700 61
JL523 | 75H 700 61%
L525 | 75H 700 61
JL527 | 758 ,900 58% |Kk:16,700
[ JL529 | 75H 900 58% | A:16,700
JL531_| 75H 400 59%
HREFFE) E L50 758 ,700 58%
JL50 758 200 57%
L59 756 700 55%
JL50 758 700 b
L50 756 700
JL 758 700
L 756 700
JL 758 700 58%
L 756 700 58%
JL 758 700 58%
L 756 700 58%
JL520 | 75H 700 58%
L522 | 75H 700 58%
JL524 | 75H 700 58%
L526 | 75H 000 60%
JL528 | 75H 400 62%
L530 | 75H 400 62%
R CHHE) =18/ RE(CHE)% [ JL303 [ 758 ,400 70%
L305_| 75H 300 68% | 13,600
JL307 | 75H 600 62% | 416,000
L30: 758 500 60% | A4:18,000
JL 758 500 60% | 18,000
L 756 100 61% | A:18,000
JL 758 400 65% | A:15,900
L 758 500 72%
JL319 | 758 500 72% |[JKA:12,000
L321 | 758 500 72% | /KA:12,000
JL323 | 75H 100 68%
1325 | 75H 100 68%
JL327 | 75H 300 68% | /KA:14,200
1329 | 75H 800 66% | A:15,100
JL331_| 75H 800 66% | A:15,100
1333 | 75H 100 66% [7K:14,200, A:15.100
JL335_| 75H 100 66% | 416,500
[HEES L300 | 75H ,400 70%
JL30 758 400 70%
L30. 756 000 4%
JL30 758 ,000 1% [A:17,000
L30: 756 600 2% | A:16,500
JL 758 300 68% 14,61
L 758 500 72% | JKA:13,200
JL 758 500 72% | 7KA:13,200
L 756 500 72% | JKA:14,200
JL 758 500 72% | /KA:14,200
[ JL32 758 500 7 JKAK:14,200
L32 758 600
JL32 756 600
L32 758 200
JL328 | 758 200 35
L330_| 75H 400 65%
JL332 | 758 300 68%
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# [
= B2 lgpamm| mmm | 558 i
R CRE) =458 (I8 R CHE) % JL9O01 75H ,900 65%
L991 758 ,900 65%
[ JLoo3 | 75H 900 65%
05 758 ,900 65%
JL907 | 758 700 66%
L 758 ,700 66%
JL 756 700 66%
L 758 ,700 66%
756 900 70%
758 ,900 70%
756 900 70%
758 ,900 70%
756 900 70%
[ J 758 ,900 70%
R (R % 75B ,900 70%
75HHI ,900 70%
75E 8 900 70%
75HHI ,900 70%
75E 6 900 70%
L 756 500 66%
JL T5E % 700 66%
L 756 700 66%
JL T5E % 900 65%
L 756 900 65%
JL T5E % 700 66%
L 756 700 66%
[ JL920 | 758 % 700 66%
[ JL922 [ 758G 400 66%
KB (A =R G Fm) | KR(EFHE [_JL200 75 B Al ,900 66%
00! 75HHI ,600 68%
JL2009 | 75B 800 75%
L201 75HHI ,900 68%
ALIR (BT F %) % |_JL2000 | 7588 300 69%
75HHI .800 75%
75E 6 900 66%
756 900 66%
KR (BEEE) =4LIE G Fi%) | KB (B9E) % 758 ,800 70%
75HHI 400 75%
L: T5E % 400 75%
AL (BT F ) 5 [_JL2500 | 75E A 1400 75%
[ JL2514 | 758 400 75%
L2518 | 75H 800 70%
Kbz () ==/ KB (FFH % | _JL205 758 9,700 3
756 9,700
756 9,700
758 1,300
[EEES 758 00 58%
756 300
756 300
0 | 758 300
KB (FH =958 (R#) KB (FFH % | _JL2081 | 75H 400 o
L2087 | 75H 400 68
hRB(HRER) & [ _JL2084 | 75H 800 7%
L2088 | 75H 400 7
1B =FLIE BT i) =S [ JL3513 | 758 ,700 7%
L3515 | 75H 700 3
ALBR G F i) % [_JL3510 [ 758 .700 73%
3512 | 75H 700 67%
RE(CFIE) =%&E3] RRE(CHE) % [ _JLs65 | 75H ,800 59%
L567 | 758 800 64%
JL569 | 758 200 65%
B L562 | 75H 200 61%
JL56: 756 200 65%
L56 756 800 64%
RE CRE) =Rl RRCHE) % |_JL5S 758 ,200 63%
L553 | 75H 800 62%
JL555 | 758 800 62%
L557 | 758 300 65%
JEIIE JL652 | 75H 600 3
L554 | 75H 000
JL556 758 200
L558 | 75H 7,200
TR CRE) =% RE(CHE)% [ JLs41 [ 758 ,900
L543 | 75H 500
JL545 | 758 000 66%
ElEES L540 | 75H 000 66%
JL 756 000 66%
L 756 600
RRCRE)=%& RECHE) % [ JL! 758 000
L57 756 7,000
JL57 756 7,000
L579 | 758 7,000
HILFE JL570 | 75H 7.000
L572_| 758 7,000
JL574 | 758 7,000
L576 | 758 7,000
RR (CFIH) =KiE RRE(CHE)% [ _JLs85 | 75H ,700 55%
L587 | 75H 200 57%
JL589 | 75H 600 59%
WEER L584 | 75H 300 51%
JL586 | 75H 300 54%
L588 | 75H 800 55%
RRCPE) =F#% RECHE)%E [ JL 758 300 o
L 756 300
JL 756 300
L 758 800 2
L149 758 ,.800
JL151 | 758 300
BHRE L 758 300
JL 756 800 2
L 758 ,.800
JL 756 300
L 758 ,300
JL 758 300
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Fm CHE) = Rm (HE) % |_JLI5 | 750 600 65%
L157 758 .600 65%
JL159 | 758 600 65%
ZIR% Li54 | 75H ,600 65%
JL156 | 758 600 65%
L158 758 .600 65%
Fm CHE) =FH RR (HE) % |_JLi6l | 75H 100 53%
L163 758 ,700 50%
JL165 | 758 600 62%
L167 758 ,400 51%
EFRE JL162 | 75H 700 50%
L164 758 ,600 54%
JL166 | 758 600 54%
L16: 758 700 50%
B CRE) =1Lfz RRCHE) R [ JLIT 158 ,600
L17: 75HHI ,600
I3 JLI7 T5E % 600
L17 75HHI ,600
R (CRIE) =/ RRCHE)® |_JL183 | 758 400 62
Li85 | 75H7 10,400 58%
JL187 | 7586 400 62%
L189 | 75E 400 62%
JL191 | 7588 400 62%
93 75HHI ,400 62%
INVASE JL182 | 758 400 62%
84 75HHI ,400 62%
JL186 | 7588 400 62%
L188 | 75H 400 62%
JL T5E % 10,400 58%
L 75HHI 9,900 60%
FR CRHE) =mfcBiE RECHE) % [ JL 758 ,900 54%
L: 75HHI ,200 50%
J T5E % 800 51%
HfEER L 758 000 57%
JL T5E % 800 51%
L: 75HHI ,200 50%
FOR CRE) =fEWl RECHE) % [ JL 758 600 66%
756 600 63%
JL235 | 7586 0,600 69%
1237 | 7588 600 69%
JL: 756 900 62%
L. 756 900 59%
ETES JL 756 300 66%
L. 756 700 62% | 13,100
JL 756 0,600 69%
L. 756 600 69%
JL240 | 758 100 61%
L242_| 758 400 60%
RRE(PHE) =K% RRE(CHE) % [ JL253 | 75H 400 64%
L255 | 75H 600 55%
JL257 | 758 600 55%
L2590 | 758 300 56%
JL261 | 758 100 59%
L263 | 758 400 64%
JL265 | 758 100 59%
L267 | 758 100 59%
RE% JL252 | 75H ,700 63%
L254 | 758 100 59%
JL256 | 758 400 4%
L258 | 75H 400 4
JL260 | 758 400 4%
L262 | 75H 100 6
JL26: 756 100 3%
L26 756 100 6%
B CRHE) =ILOF8 RRCPE)% [ JL29 758 ,100 69%
L293 | 75H 200 63%
JL295 | 75H 200 63%
L297 | 758 100 59%
I=E=F3 JL290 | 75H ,100 69%
L292_| 758 500 65%
JL294 | 758 100 59%
L296 | 75H 100 59%
RRCHE)=HE RECHE)%E [_JL277 [ 758 ,900 51%
L279 | 758 900 51%
JL283 | 75H 500 58%
L285 | 75H 500 55%
JL287 | 758 200 50%
HER L276 | 758 900 54%
JL278 | 758 900 54%
L280 | 75H 500 58%
JL284 | 75H 800 51%
L286 | 75H 800 51%
RRER(PHE) =#5 RRECHE) % [ JL453 | 75H ,600 65%
55 | 758 600 62%
JL457 | 758 600 62%
L459 | 75H 600 62%
JL461 | 758 600 62%
L463 | 75H 600 62%
JL465 | 758 600 62%
BER L452 | 758 ,100 66!
JL454 | 758 000 64%
L456_| 758 000 64
JL458 | 758 100 66%
L460 | 75H 600 62%
JL462 | 758 600 62%
L464 | 758 600 65%
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Fm CHE) =@ R (HE) % |_J475 | 750 000 64%
L477_| 75H 600 59%
JL479 | 758 500 62

L481 | 75H 000

JL483 | 758 000

[ JLass | 758 700

JL487 | 758 100

I3 L47! 758 ,100
JL4T 756 100 57%
L47 758 500 62%
JL480 | 758 500 62%
L482 | 75H 900 61%
JL484 | 758 400 56%
L486 | 75H 600 56%
RE(CPHE) =88 R CHE) % JL491 5B ,200 65%
L493 | 75H 7 700 64%
JL495 | 758 200 68%
L497 | 75H % 200 65%
JL499 | 758 900 58%
EEEES L 75 E B 200 65%
JL T5E % 300 62%
L 756 200 68%
JL T5E % 900 58%
L 756 1900 58%
B CRE) =1 RECHE) % [ JU 75B 700 65%
L 75B i 600 59%
JL435 | 7586 600 62%
7| 7568 200 69%
JL439 | 758 600 56%
L443 | 75H 7 600 56%
[AITES JL. 758 .200 69%
L 756 000 55%
JL T5E % 600 62%
L 756 100 61%
JL T5E % 600 59%
L 756 700 67%
FOR CRE) =3t AM RRCHE)F | JL371 158 ,200 63%
L3738 | 7587 100 63%
JL3971_| 758 % 100 66%
L375 | 75H% 200 65%
JL377 | 758 200 63%
L379 | 758 200 63%
JEAMRE JL370 | 75H 100 71%
L372_| 758 200 63%
JL374_| 75H 600 7%
JL3972 | 75H 600 7
JL37 758 700 7%

L37 756 300 3% | JKA:13,100

RR(HHE) =K% R CRE)E [_JL66 758 300 7%
L66: 756 900 3%
JL665 | 75H 900 3%
L667 | 758 800 65%
JL669 | 75H 400 61%
L671 | 758 900 60%
Rn% JL662 | 75H ,300 67%
L664 | 75H 800 65%
JL668 | 75H 300 67%
L670 | 758 300 67%
JL672 | 75H 900 60%
L674 | 758 900 60%
RE(PH) =Kk& RRE(CHE) % [_JL605 | 75H ,200 65%
07_| 758 000 63%
J 758 300 69%
L 756 300 69%
JL 758 300 69%
L 756 300 69%
% JL6O 758 ,800 68%
L 756 300 69%
JL 758 300 69%
L 756 300 69%
JL 758 500 62%
L 758 800 66%
RRCHE) =X RECHE)%E [ JL 758 1400 72%
L625 | 75H 400 72%
JL627 | 75H 1400 72%
L629 | 75H 400 72%
JL631_| 75H 1400 72%
[ JL633 | 75H 400 72%
[ JL3955 | 75H 1400 72%
L637 | 75H 400 72%
JL639_| 75H 1400 72%
BAR L622 | 758 1400 72%
JL624 | 75H 1400 72%
L626 | 75H 400 72%
JL628 | 75H 1400 72%
30 | 758 400 72%
JL632 | 75H 1400 72%
[_JL634 | 75H 400 72%
[ JL3956 | 75H 1400 72%
L638 | 75H 400 72%
RRE(CRHE) =2k RRECHE) % [ _JL687 | 75H ,300 68%
L689 | 75H 000 61%
JL691 | 75H 000 61%
L693 | 75H 300 68%
JL695 | 75H 600 62%
L697 | 758 300 68%
E:E L688 | 758 200 65%
JL690 | 758 600 62%
L692 | 75H 200 65%
JL694 | 758 200 65%
L696 | 75H 500 60%
JL698 | 758 200 65%
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T s
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RRE(PH) =ERS R CHE) % 75H ,300 69%
758 200 65%
756 500 62%
758 ,300 69% :15,200
9 | 758 300 69%
651 758 300 69%
JL653 | 758 400 65%
L655 758 400 65%
BREX JL640 [ 75H 300 69%
L 758 300 69%
JL 756 300 69%
L 758 300 69%
JL 756 000 66%
L 65! 758 ,600 64%
JL652 | 7588 400 65%
L654 75HHI 00 65%
RR(RE) =K () | REGBE)FE [_JL3005 | 758 00 56%
L3007 758 00 56%
AR (FFH % | _JL3002 | 7584 00 56%
L300 75HHI ,100 56%
FUR () =ALIR i) | R ()% | JL3049 | 75H ,900 58% | A:16.700
AL TR | JL3040 [ 758 00 58%
RRE(E) =252 (P3) | REGRBE)FE [_JL3083 | 75HH ,700 7
L3087 75HHI 700 7!
2 E (PE)F|_JL3082 | 758 ,700 7
L3084 75HHI 700 7!
R (R H) =18/ FoR ()% | JL3057 | 758 00 68%
FEGES L305: 7588 00 70%
PNACZET ABRUFM)F [ JL 75H A 00 59%
FREEF L 75E B 7,900 59%
AR (B =% ABR ()% [ JL 75H A 7,000 59%
L: 75HHI 7,000 59%
JL T5E % 700 59%
BHRR L2152 | 75B i ,700 59%
[ JL2154 | 758 % 500 62%
L215: 75HHI ,700 59
AR (B ==R ABRUEF | JL216: 758 500 61
ZIRFE L216: 75HHI ,500 61
KR () =FE AR (D% [ _JL217 758 ,000 62
L217: 75HHI ,400 4
JL2179 | 75H 600 3
EFE L2172 | 758 000 2
JL2174 | 758 00 3%
L2176 | 75H 00 3%
KR (B =T AR (FFH % [ _JL2181 [ 758 00 50%
[ JL2183 | 75H 00 50%
[JL2185 | 75H 00 52%
L2187 | 75H 00 47%
TEER JL2180 | 75H 9,800 50%
L2184 | 75H 7,800 55%
[ JL2186 | 75H 8800 52%
L2190 | 75H 0,800 47%
KBz () = KB (FFH % | _JL2233 | 75H 5,000 58%
[ JL2235 | 75H 6,000 55%
JL2237 | 75H 7,000 53%
%3 L22 756 7,000 53%
JL22 756 000 55%
L22 756 000 50%
AR (B =& AR (B % [ _JL2201 [ 758 400 61%
[ JL2203 | 75H 400 61%
[ JL2205 | 75H 400 61%
[ JL2207 | 75H 200 65%
JL2209 | 75H 400 61%
[ JL2211 | 758 600 55%
JL2213 | 75H 000 54%
&% | _JL2200 | 75H 100 56%
JL2202 | 75H 100 56%
[ JL2204 | 75H 700 55%
JL2206 | 75H 700 55%
[JL2208 | 75H 500 61%
JL22 756 100 59%
L22 758 100 59%
KR (B =#8 KB (RFH % [ JL22 75H ,900 57%
[ JL22 756 900 57%
JL22 756 500 65%
L2251 | 75H 900 57%
FEES JL2240 | 75H ,900 57%
[ JL2244 | 75H 500 65%
JL2248 | 75H 500 65%
L2250 | 75H 500 62%
KR (B FH =#2l ABR(FH % [ _JL2301 | 758 ,300 46%
L2305 | 75H 900 48%
JL2309 | 75H 700 49%
EATIES L2302 | 75H ,700 49%
JL 756 900 48%
L. 758 0,700 44%
AR (B =X% KBR(FH % [ _JL2361 | 758 ,900 40%
L2365 | 75H 500 42%
JL2367 | 75H 000 40%
R5F | _JL2362 | 75H 000 40%
JL2364 | 75H 500 42%
L2366 | 75H 400 38%
KR (B =R KBR(FH % | _JL237 758 ,800 56%
L2373 | 75H 800 6
JL2375 | 75H 300 1
L2377 | 75H 500 7
Rig% L237 758 500 7
JL2374 | 75H 300
L2371 758 .300
JL2378 | 75H 300
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FH J—
= B2 lgpamm| mmm | 558 i
KB (B =RE &R KB (FFH % | JL 758 0,700 50%
758 2,200 54%
756 0,700 59%
AR 758 ,700 59%
756 900 51%
758 900 51%
AR () == RBR (5 % 758 ,300 46%
758 400 45%
756 700 59%
758 400 49%
756 400 49%
BB 758 ,900 51%
756 900 51%
L. 758 200 46%
JL T5E % 200 46%
L 756 700 44%
AR (B =ERS AR (FFH % | _JL2401 [ 7585 ,700 58%
L2403 | 75E 5 700 58%
JL2407 | 758 % 700 58%
L 75B i 500 65%
JL T5E % 700 61%
L. 756 700 61%
JL T5E % 400 59%
ERBE L 7588 500 65%
JL2402 | 75B 0500 65%
L2404 | 75E % 0,700 64%
JL T5E % 700 64%
L. 756 100 53%
75E 6 400 59%
756 00 59%
EEE (FE) =HR (FTTm)| BaE(PE & [ _JLS T5H R 800 55%
756 00 49%
75E 6 00 62%
756 00 66%
75E 6 00 66%
FLIR G F i) % 7588 00 1
75E 8 000 4
756 200 7% | 5:18,300
75E 6 200 7% | H:18.300
756 00 55%
HIRGITR) =F&K ARG TFiR) % 758 00 59%
756 00 59%
758 00 59%
BEHR 758 00 59%
758 00 59%
756 00 59%
IR GRFRR) =B AL G F UL 758 .100 53%
756 500 48%
758 500 48%
REFR 758 500 48%
758 100 53%
758 100 53%
HIRGHTFR) =1E% AWEFTFR) ] 758 500 52%
756 500 49%
758 500 49%
756 500 45%
EER 758 500 45%
756 500 45%
758 500 49%
756 500 45%
FR=ALRFHTFR) FEES 758 .700 53%
756 800 58%
AL G F UL 758 ,800 58%
756 300 54%
iE =#L1% i) [IE=ES 758 600 51%
756 600 51%
758 9.500 70%
756 9,500 70%
L: 758 14,800 54% |K:15,600
LR TR R J 758 9,500 70%
758 5,200 52%
758 4,200 55%
758 7.500 45%
756 7,200 46%
RE=HIEFHFR) L& 758 600 62%
AR GRTFRE) | J 758 00
BE=1E% EEGES JL3523 | 75H 800
EER L3526 | 75H 800
BE=1lE BEFE [ JL3531 | 758 ,000
L3537 | 75H 900 3
[ [ JL3530 | 758 7,900 3%
JL3538 | 75H 19,000 61%
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RE(CRE) =Xk (D) R CHE) % JL101 75H 9.300 3%
L103 | 75H 9,500 2% |2:9.800, £:10,200
JL107 | 758 1,600 4% K
L 758 1,600 %A
JL 756 0,400 59% A&
L 758 0,400 59% A
JL 756 0,400 59% A
L 758 9,500 62% [
JL 756 9,500 62% A
L 756 1600 £
JL 756 600 ES
Li31_| 758 1600 X
JL133 | 758 1600 ES
Li37 | 758 1600 X
JL13 T5E % 1600 ES
ENHCGZEES L10; T5HE ,900 :
JL10 T5E % 600 % | A:
L 758 Bl ,600 50% |A:
JL FHEES 00 50% | A:
L 758 Bl 00 50% |A:
JL T5E % 0,400 59% |t
L 75B i 500 62%
JL T5E % 500 62% 00
L 756 500 62% 00
JLi24 | 7588 500 62% 00
6 | 758 500 62% 00
JL128 | 7586 500 62 100
L 756 11,600 100, H:12,600
JL T5E % 11,600 100, £:10.100. H:12,600
L 756 11,600 100, £:10,100, H:12,600
FOR CRE) =Kk (B#) | ®RRCAE)FE [ JL 758 9,300 63
L. 756 11,300 55% 500, 212,700, H:12,200
KRR (BE) % | JL220 | 757 7,800 69%
L228 | 75H7 300 55%
RRCHE) =HIEGF) | RRCAE)HE [ JL501 | 758 ,200 67% |%:14,800, £:15.100. H:11,200
L595 | 757 300 59% :
JL503 | 7586 300 59% |[&t: 300
L505 | 75H % 700 58% | A.:16,400, 2 +:18,800, H:14,400
JL507 | 7586 200 54% |% 400
L5 756 7,200 54% : 400
JL 756 7,200 54% 400
L 756 700 58% :17.400, H:14,400
JL 758 900 60% :14.700
L 756 900 60% 114,700
JL519_| 75H 400 62% :14.700
L521 | 758 700 61
JL523 | 75H 700 61%
L525 | 75H 700 61 500
JL527 | 75H 900 55% 500, £:15400. H:15900
[ JL529 | 75H 900 55% 500, £:15,400, H:15.900
JL531_| 75H 400 59% 400, H:14,700
HREFFE) E L50 758 ,700 58% 700
JL50 758 200 57% 700
L59 756 700 55% 700
JL50 758 700 b
L50 756 700
JL 758 700
L 756 700
JL 758 700 58%
L 756 700 58% :
JL 758 700 58% 17,
L 756 700 58% 17,
JL520 | 75H 700 58% 17,
L522 | 75H 700 58% 7,
JL524 | 75H 700 58% 17, 400, H:19,000
L526 | 75H 000 60% A 400, H:19,000
JL528 | 75H 400 62% .900
L530 | 75H 400 62% : 900
R CHHE) =18/ RE(CHE)% [ JL303 [ 758 400 70% |- 4,100, H:11,500
L305_| 75H 300 68% | A: 4,600, £:15,100
JL307 | 75H 600 62% |4 6,200, H:13,300
L30: 758 500 60% |4 3300
JL 758 500 60% |4 7.000, 300
L 756 100 61% |4 6,500, ,600
JL 758 400 65% | A 6.500. 600
L 758 500 2%k 4,600, ,600
JL319_| 75H 500 72% : 100, & 00 H:13.600
L321 | 758 500 72% _|A: +:13,600. H:14.100
JL323 | 75H 100 68% |AL:
1325 | 75H 100 68% [ AL: 600
JL327 | 75H 200 61% [A: 600
1329 | 75H 800 66% [AL: 400
JL331_| 75H 800 66% [Ad ) 400
1333 | 75H 100 66% | A: .200, £:19,100, H:16.400
JL335_| 75H 100 66% |A: 9,100, 116,200, H:16,400
EEES L300 | 75H 400 70% _|& . H:12.800
JL30 758 400 70% |2 +:13,600, H:12.800
L30. 756 000 4%
JL30 758 ,000 1% [K 6,100, H:15,000
L30: 756 600 2% A 5,100, H:15,000
JL 758 300 68% 5,600, +:14.200, H:13.800
L 758 500 72% A:13,100, ,600. H:13.800
JL 758 500 72% :13,100. 600, B:15.200
L 756 100 63% 1500, H:15,200
JL 758 100 63% 1500, H:15,200
[ JL32 758 500 72 100, £:16,500, H:17.400
L32 758 600 500, H:17.400
JL32 756 600 500, H:17.400
L32 758 200 6,100, H:17.401
JL328 | 758 200 3 8,400, H:17.400
L330_| 75H 400 65% 7400, H:16,500
JL332 | 758 300 68% H:15.200
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Fm CHE) R (HE) % |_JLo01 | 75H 100 60% 800, H:17.600
L991 758 ,100 60% ,800, H:17,600
JL903 | 758 100 60% 800, H:17.600
05 758 ,100 58% 1,600, H:18,200
JL907 | 758 100 58% 1,600, H:18,200
L 758 ,100 58% 1,600, H:18,200
JL 756 800 61% :18.200
L 758 7,800 61%
L 756 100 65%
L999 758 ,100 65%
JL9T9 | 758 100 65%
[ _JLe21 | 758 ,600
[ JL923 | 75H 600
[ JL925 | 75H 600
PR GRS % | JL9O 75 R 400
L90: 75HHI ,400
JL994 | 7588 800 3
L90: 75HHI ,800 3%
JL906 | 7588 600 4%
L 75HHI ,200 0%
JL T5E % 600 59% B
L 756 600 59%
JL T5E % 400 58%
L 756 400 58%
JL T5E % 100 60%
L 75HHI ,100 60%
JL920 | 7586 100 60%
[ JL922 | 75HH 1900 61%
KB (A =R G Fm) | KR(EFHE [_JL200 75 B Al ,900 66%
00! 75HHI ,600 68%
JL2009 | 75B 800 75%
L201 75HHI .900 68% 118,000, H:16.400
ALIR (BT F %) % |_JL2000 | 7588 ,300 69% |%& +:16,200
L2006 75HHI .800 75% H
JL2010 | 758 % 900 66%
[ JL201 75 E B ,900 66%
KB (FAEE) =#LIR G Fi%) | KB (B8#E) 5 [ _JL2501 | 75H i ,800 70%
[ JL250: 75HHI 400 75%
JL2505 | 75B % 400 75%
AL (BT F ) 5 [_JL2500 | 75E A 1400 75%
[ JL2514 | 758 400 75% 300
L2518 | 75H 800 70% 200, H:16,200
KR () =18 AR (B % | _JL2051 [ 758 9,700 b ,400
L2053 | 75H 9,700 400
JL2057 | 75H 9,700
L2061 | 75H 1,300
EEES | JL2050 | 758 00 58%
[ _JL2056 | 75H 300
[ JL2058 | 75H 300
L2060 | 75H 300
KR (A =48R\ | KREFFHFE [ _JL2081 | 758 400 o |21:18,200
L2087 | 75H 400 68
RRE RS % | JL2084 | 75H ,800 7% | H:15,400
L2088 | 75H 400 7 118,200
BRI =#LI% (i) [EEES | JL3513 | 75H ,700 7% 1:20,100
L3515 | 75H 700 3 £:17,100
AL (BT F %) % |_JL3510 | 758 .700 73% 7,500
3512 | 75H 700 67% 20,501
RE(CFIE) =%&E3] RRE(CHE) % [ _JLs65 | 75H ,800 59%
L567 | 758 800 64%
JL569 | 758 200 65% H:19,400
B L562 | 75H 200 61% :22,200
JL56: 756 200 65% E 15,900, H:20,200
L56 756 800 64% 16, 21,200
RE CRE) =Rl RRCHE) % |_JL5S 758 ,200 63% : H:15,500
L553 | 75H 800 62% £:19,600. H:17.200
JL555 | 758 800 62% £:19,600. H:17.200
L557 | 758 300 65% 115,900, H:18,300
JEIIE JL652 | 75H 600 3
L554 | 75H 000 H:18,100
JL556 | 758 200 %:18,100, H:20.000
L558 | 75H 7,200 118,100, H:20,000
R CHE) =3k HRCPE)FE [_JL541 | 758 ,900 % £:20,000
L543 | 75H 500 £:17,200
JL545 | 758 000 66% [2:15,900, H:17.300
ElEES L540 | 75H 000 66% £ H:15,500
JL 756 000 66% |%+ H:15500
L 756 600 H:19,300
RRCRE)=%& RRCPE) % [ JLU 758 ,000 £ 1:20,700
L57 756 7,000
JL57 756 7,000
L579 | 758 7,000 %:19,000. H:20.800
HILFE JL570 | 75H 7,000 % 1:20,700
L572_| 758 7,000 H:18,000
JL574 | 758 7.000 H:18,000
L576 | 758 7,000 119,000, H:20.800
R CRHE) =& HRCHE) % | _JL585 | 75H .700 55% |4 +:19,100, H:14,600
L587 | 75H 200 57% 118,700, +:18,200, H:16.700
JL589 | 75H 600 59% 216,500, H:19.200
WEER L584 | 75H 300 51%
JL586 | 75H 300 54% |%:15,700, £:15.200, H:21,200
L588 | 75H 800 55% | 16,300, £:14,700, H:20,200
RRCPE) =F#% RECHE)%E [ JL 758 300 o
L 756 300
JL 756 300
L 758 800 2% | H:13,800
L149 758 ,.800 % H:13,800
JL151 | 758 300 H:13,300
BHRE L 758 300
JL 756 800 2
L 758 ,.800
JL 756 300
L 758 ,300 % H:13,300
JL 758 300 £ H:13,300
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= B2 \mawm| sma | 2EM i
Fm CHE) = Rm (HE) % |_JLI5 | 750 600 65%
Li57 | 758 1600 65%
JL159 | 75H 600 65%
=iR% Li154 | 758 600 65%
JL156 | 75H 600 65%
Li58 | 75H 1600 65%
Fm CHE) =FH RR (HE) % |_JLi6l | 75H 100 53% | H:12,200
L163 | 75H 700 50% | +£:14,600, H:12,900
JL165 | 75H 600 62%
L167 | 75H 400 51% 5:14,300, £:12.400
BEX JL162 | 75H 700 50% £:14.200, H:12,600
Li64 | 75H 600 54% :13,700, +:13,100, H:15,000
JL166 | 75H 600 54% 700, £:13.100, H:15,000
L16 758 700 50% 300, +:12,400, H:14,600
B CRE) =1Lfz RRCHE) R [ JLIT 158 ,600
L7 75B i 600
I3 JLI7 FHEL 600
L7 758 i 600
R (CRIE) =/ RRCHE)® |_JL183 | 758 400 62
Li85 | 75H7 10,400 58% | H:9.400
JL187 | 7586 400 62%
L189 | 75H7 400 62%
JL191 | 7588 400 62% | % H:0,000
93 | 7588 400 62% |%H:9.900
INVASE JL182 | 758 400 62%
84 | 75H B 400 62%
JL186 | 7588 400 62%
L188 | 758 400 62% [£H:9.900
JL T5E % 10,400 58%
L 756 9,900 60%
RR(CHE) =mFmita R RECHE) % [ JL 758 ,900 54%
L. 756 200 50%
J T5E % 800 51% |% H:16,300
HfEER L 758 000 57%
JL T5E % 800 51% | H:16,300
L 758 ,200 50% |#H:17,200
FOR CRE) =fEWl RECRE) % JL. T5HH .600 66%
L. 756 600 63%
JL235 | 7586 0,600 69%
7| 7568 600 69%
JL: 756 ,900 62%
L. 756 ,900 59% | £:13,400
ETES JL 756 300 66%
L. 756 ,700 62% | A% 13,100, H:12,200
JL 758 0,600 69%
L. 756 600 69%
JL240 | 75H 100 61% H:13,400. :12.500
L242_| 75H ,400 60% 114,000
RRE(PHE) =K% RRE(CHE) % [ JL253 | 75H 400 64%
L255 | 75H 600 55% 200
JL257 | 75H 600 55% 200
L259 | 75H 300 56% ,200
JL261 | 75H 100 59% 400
L263 | 75H 400 64% 115,100, H:14,100
JL265 | 75H 100 59% H:15,100
L267 | 75H 100 59% H:15,100
RE% JL252 | 75H ,700 63%
L254 | 75H 100 59% 700
JL256 | 75H 400 4% 114,600, 200
L258 | 75H ,400 4 114,600, 200,
JL260 | 75H 400 4% 114,600, 200,
L262 | 75H 100 6 000, 200,
JL26 758 100 3% 117,000, 200,
L26 758 100 6% 116,000, £:13,200.
B CRHE) =ILOF8 RRCPE)% [ JL29 758 ,100 69%
L29 758 200 63% | £:11,000, H:11.500
JL295 | 75H 200 63% |% H:15200
L297 | 75H 100 59% | £:14,200
[=E=F JL290 | 75H ,100 69%
L292 | 75H 500 65%
JL294 | 75H 100 59% |# H:17.100
L296 | 75H 100 59% | % H:17,100, £:14,000
RRCHE)=HE RECHE)%E [_JL277 [ 758 ,900 51%
L279_| 75H ,900 51%
JL283 | 75H 500 58%
L285 | 75H 500 55%
JL287 | 75H 200 50% |% H:18,100
HER L276_| 75H ,900 54% £:16.700. H:14.600
JL278 | 75H 900 54% [21:16.700, H:14,600
L280 | 75H 500 58% | H:14,500
JL284 | 75H 800 51% [£:16.700, H:17.100
L286 | 75H 800 51% |£:16,700, H:17.100
RRER(PHE) =#5 WRCHE)® [ JL453 | 758 ,600 65% |H
55 | 758 600 62%
JL457 | 75H 600 62%
L459 | 75H ,600 62%
JL461_| 75H 600 62%
L463 | 75H 600 62%
JL465 | 75H 600 62%
BER L452 | 75H 100 66
JL454_| 75H 000 64% | H:11,100
L456_| 75H ,000 64% | H:11,100
JL458 | 75H 100 66% | H:12,000
L460 | 75H 600 62%
JL462 | 75H 600 62%
L464 | 75H 600 65%
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Fm CHE) =@ R (HE) % |_J475 | 750 000 64%
L477_| 75H 600 59% £:14,200
JL479 | 758 500 62 £:13,400. H:12.900
L481 | 75H 000 H:12,900
JL483 | 758 000 H:12,900
[ JLass | 758 700 114,200, £
JL487 | 758 100 H:16,000.
BINFE L47 758 100 £:14,200,
JL4T 756 100 57% £:15.100
L47 758 500 62% :13,100, H
JL480 | 758 500 62% 13,
L482 | 75H 900 61% 113,600, H:
JL484 | 758 400 56% £ H:15,500
L486 | 75H 600 56% 3:15,800, £:15,100
FRCRE) =2 HRCRE)FE [_JL491 | 758 ,200 65%
L493 | 75H 7 700 64%
JL495 | 758 200 68% | H:12,200
L497 | 75H % 200 65%
JL499 | 758 900 58% |% H:15900
EEEES L490 | 75E 200 65%
[ JL492 | 758 % 300 62% £:14.500
L 756 200 68% :12,200
JL T5E % 900 58% 116,700, H:16.300
L 756 1900 58% 116,700, H:16.300
B CRE) =1 HRCAEFE [ JU 75B ,700 65% £:13.600
L 75B i 600 59% :12,700
JL435 | 7586 600 62%
7| 7568 200 69% :14,600
JL439 | 758 600 56% :17,400, H:17.100
L443 | 75H 7 600 56% 117,400, H:17.100
[AITES JL. 758 200 69% £:15.200
L 756 000 55% £:17.100. H:14.100
JL T5E % 600 62% 4,600
L 756 100 61% 114,600, H:15,600
JL T5E % 600 59% 15,700, F:13,700. H:17,500
L 756 700 67% :17,000, H:16,500
FOR CRE) =3t AM RRCRE)FE [ JL371 | 758 ,200 63% | H:13,700
L373 | 758 100 63% [£:15,300, H:14.200
JL3971_| 758 % 100 66%
L375 | 75H% 200 65%
JL377 | 758 200 63% | A:16.100, %:16.200
L379 | 758 200 63% [ A2 1:15700
TERWE JL370 | 75H 100 71% | A+£:13,100, %:14.100, H:12,000
L372_| 758 200 63% | H:14,900
JL374_| 75H 600 67%
JL3972 | 75H 600 67%
JL37 758 700 67% £:16.100. %:15.800, H:14,700
L37 756 100 68% | JsK:11,300, AE:15.100, 2:14,700
RR(HHE) =K% R CRE)E [_JL66 758 300 67% |%:15,700, 1:14.400
L66: 756 900 63% |2 115,700, H:13,800
JL665 | 75H 900 63% | H:13,800
L667 | 758 800 65%
JL669 | 75H 400 61% | £:14,400
L671 | 758 900 60% | +:14,400
Rn% JL662 | 75H ,300 67%
L664 | 75H 800 65% |&£:15900
JL668 | 75H 300 67% [2:14,400, H:15400
L670 | 758 300 67% 214,400, H:15400
JL672 | 75H 900 60%
L674 | 758 900 60% 5,400
RE(PH) =Kk& RRE(CHE) % [_JL605 | 75H ,200 65% 5,600, H:14,800
07_| 758 000 63% £:16.700, H:14,800
J 758 300 69% £:17.000. H:16.500
L 756 300 69% 3:17,000, £:14,600
JL 758 300 69% H:17,000., 600
L 756 300 69% :13,800, H:16,000
% JL6O 758 ,800 68%
L 756 300 69% :
JL 758 300 69% | 8-
L 756 300 69% |H:
JL 758 500 62% |% H:17,000
L 758 800 66% | 217,200, £:15.700, H:16,700
RRCHE) =X RECHE)%E [ JL 758 1400 72%
L625 | 75H 400 72%
JL627 | 75H 1400 72%
L629 | 75H 400 72%
JL631_| 75H 1400 72%
[ JL633 | 75H 400 72%
[ JL3955 | 75H 1400 72%
L637 | 75H 400 72%
JL639_| 75H 1400 72%
33 L622 | 75H 400 72%
JL624 | 75H 1400 72%
L626 | 75H 400 72%
JL628 | 75H 1400 72%
30 | 758 400 72%
JL632 | 75H 1400 72%
[_JL634 | 75H 400 72%
[ JL3956 | 75H 1400 72%
L638 | 75H 400 72%
RRE(CRHE) =2k RRCHE)® | JL687 | 758 ,300 68% 600
L689 | 75H 000 61% 700, H:15.700
JL691 | 75H 000 61% 700, B:15,700
L693 | 75H 300 68% 115,600, H:13,800
JL695 | 75H 600 62% 3,300, H:16,500
L697 | 758 300 68% 7400, £:13,800. H:16,500
E:E L688 | 758 200 65% :15.200
JL690 | 758 600 62%
L692 | 75H 200 65% :16,500
JL694 | 758 200 65% |% H:16,500
L696 | 75H 500 60% 5,600
JL698 | 758 200 65% 7,400, £:14.600
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RRE(PH) =ERS RRCHE) R [ JL 75H ,300 69%
L 758 ,200 65% 6,500, H:13,300
JL 756 500 62% 7,300, H:13.300
L 758 ,300 69% A:15,200, £ +:16,500, H:15,600
JL649 | 758 300 69% | +:14.400, H:15600
[ JL651 758 ,300 69% 1:16,200
JL653 | 758 400 65% 15,600, £:14.700, H:16.200
L655 758 ,400 65% 4:15,600, 1:13.300
BREX JL640 [ 75H ,300 69%
L 758 ,300 69% 14,900, =]
JL 756 300 69% 115,200,
L 758 ,300 69% ,200,
JL 756 000 66% 700,
L 65! 758 ,600 64% 3:16,500,
JL652 | 7588 400 65% :16,000, H:16.500
L654 75HHI ,400 65% 116,000, £:14,700, H:16,500
RR(RE) =K () | REGBE)FE [_JL3005 | 758 ,100 56%
L3007 758 100 56%
AR (FFH % | _JL3002 | 7584 .100 56%
L300 75HHI ,100 56%
FUR () =ALIR i) | R ()% | JL3049 | 75H ,900 55% | 717,800, 2:19,500, £:15,400, H:15.900
AL TR | JL3040 [ 758 ,700 58% | 1:16400, H:14.700
R (FRE) =&TE(PE) | R (RE)FE [ JL3083 | 75H ,700 7
L3087 75HHI ,700 7!
AHE(PE)F| _JL3082 | 758 ,700 7
L3084 75HHI ,700 7!
TR (R E) =18k Hm (RE)F [ JL3057 | 75B 300 68% 115,200, H:15,600
fwES 5. 75HHI ,400 70% 1:13,600, H:11,500
PNACZET AR (B FE [ JL 758 ,900 57% £:20,300. H:17.800
REER L: 7583l ,900 57% :19,800, £:17.700, H:20,300
AR (B =% AR (% [JL 758 ,000 59% +:17.600, H:15.800
L: 75HHI 7,000 59% :15,800
JL T5E % 700 59% 5,500, H:17.100
BRE L2152 | 75B i ,700 59% :15,500
[ JL2154 | 758 % 500 62% 6.700
5! 75HHI ,700 59 1:17,100, £:15,500
AR(BEFH==iR AR (% | JL216 75 Bl .500 61
ZIRFE L216: 75HHI ,500 61
KB (5 =7kE AR (D% [ _JL217 75 Bl .000 62
L217: 75HHI ,400 4
JL2179 | 75H 600 3 400
EFE 72 | 75H 000 2 400
JL2174 | 758 600 3% 400
L2176 | 75H 600 3% ,400
KR (B =T AR (FFH % [ _JL2181 [ 758 800 50%
[ JL2183 | 75H 00 50%
[JL2185 | 75H 00 52%
L2187 | 75H 800 47% | % H:22,800
TEER JL2180 | 75H 9,800 50%
L2184 | 75H 7,800 55% | H:18,800
[ JL2186 | 75H 8800 52%
L2190 | 75H 0,800 47% _|% H:22,800
KBz () = KR (FFH % | JL2233 | 758 5,000 58% | H:14,000
[ JL2235 | 75H 6,000 55% 15,000
JL2237 | 75H 7.000 53% H:19,000
%3 L22 756 7,000 53% :16,000
JL22 756 000 55%
L22 756 000 50% 000
AR (B =& AR (B % [ _JL2201 [ 758 ,400 61% ,100, H:13,200
[ JL2203 | 75H 400 61% 100, H:13,200
[ JL2205 | 75H 400 61%
L2207 | 75H 200 65% 14,400
JL2209 | 75H 400 61% £:14,400
[ JL2211 | 758 600 55% :15,100, H:17.200
JL2213 | 75H 000 54% :15.100, H:17.700
&% | _JL2200 | 75H 100 56%
JL2202 | 75H 100 56%
[ JL2204 | 75H 700 55% H:15,600
JL2206 | 75H 700 55% |4 H:16.500
[JL2208 | 75H 500 61% 4,800, H:16,500
JL22 756 100 59% |2 4900, H:16,500
L22 758 100 59% : :14,400, H:15,400
FNACEES 3] AR (B % [ _JL22: 758 ,900 57% | H:11,500
[ JL22 756 900 57% | H:11,500
JL22 756 500 65% |2 H:12,500, £:12.900
L2251 | 75H 900 57% | 214,400, £:12.900, H:14,900
FEES JL2240 | 75H ,900 57%
[ JL2244 | 75H 500 65% | £:12,700
JL2248 | 75H 500 65% |#+:12.700
L2250 | 75H 500 62% | 213,400, £:11.400, H:14,400
KR (B FH =#2l ABR(FH % [ _JL2301 | 758 ,300 46%
L2305 | 75H 900 48%
JL2309 | 75H 700 49%
EATIES L2302 | 75H ,700 49%
JL 756 900 48%
L. 758 0,700 44%
AR (B =X% KBR(FH % [ _JL2361 | 758 ,900 40% | % +:13,400, H:11,500
L2365 | 75H 500 42% £ H:12,900
JL2367 | 75H 000 40% _[£:13,400, H:13.700
R5F | _JL2362 | 75H 000 40% 13,400, H:12,000
JL2364 | 75H 500 42% (213,800, H:13.700
L2366 | 75H 400 38% 800, £:12,500, H:13,700
KR (B =R KBR(FH % | _JL237 758 ,800 56% ,800
L2373 | 75H 800 6 800
JL2375 | 75H 300 1% £ H:11,900
L2377 | 75H 500 7% | % H:13400
Rig% L237 758 500 7
JL2374 | 75H 300 % £:11,900
L2371 758 .300 % +:11,900
JL2378 | 75H 300 £ H:12,500
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FH -
= B2 \mawm| sma | 2EM i
KB (B =RE &R KB (FFFH % | JL2383 | 75H 0,700 59% & +:12,700
[ JL2385 | 75H 2,200 54% [ +:13,500, H:12,900
JL2389 | 75H 0,700 59% | % H:13,500
A% |[_JL2382 | 75H ,700 59%
[ JL2386 | 75H ,900 51% H:13,500
L2392 | 758 900 51%
RER (51 =2 AR (% | JL2431 | 758 ,300 46%
[ JL2433 | 75H 400 45%
JL2437 | 75H 700 59% :15.300
L2441 | 758 400 49% 5.300
JL2443 | 75H 400 49% 5,300
BB | JL2430 | 758 ,900 51% 4,500
JL2432 | 75H 900 51% 4,400, H:14.200
L. 758 200 46% 4,800, H:15.200
JL T5E % 200 46% 4,800, H:15.400
L 756 700 44% 600
AR (B =ERS R (FFH % [_JL2401 | 758 ,700 58% 400
L2403 | 75808 700 58% 400
JL2407 | 758 % 700 58% 400
L 75B i 500 65% 0
JL T5E % 700 61%
L. 756 700 61% ,
JL T5E % 400 59% 700, £:11.700. H:13.100
ERBE L 7588 500 65% 0
JL2402 | 75B 0500 65% 400
L2404 | 75808 0,700 64% 700
JL T5E % 700 64% 700
L. 756 100 53% 400
JL2412 | 758 % 400 59% 114,100, H:13.600
L2414 | 75E % 400 59% 114,100, H:13,600
B E (FED) =A% (FFa) &= (P& F [ _JL3103 | 75H 7l ,800 55% +£:20,800, B:18,500
L3105 | 7504 00 49% :19,300
JL3107 | 758 % 00 62% 9,400, H:19,700
L3115 | 75081 00 66% 8,100, H:19,600
JL3117 | 758 % 00 66% 5,300, H:19,600
ARG TR F|_JL3100 | 758 A 00 1 :19,300
JL3106 | 75B % 000 4 £ B:18.300
L3110 | 756 200 7 :18,300, £:19,900, H:20,100
JL3114 | 758 % 200 7% | 3:18,300, %:19.900. H:20,100
L3118 | 75H 00 55% |£:19,900, H:20,700
HIRGITR) =F&K FLIR G F i) F [_JL2803 | 75H 00 59%
[ JL2805 | 75H 00 59%
JL2809 | 75H 00 59%
BERE | JL2so4 | 758 00 59%
[ JL2806 | 75H 00 59%
L2810 | 75H 00 59%
FLIE BT F i) =FE FLOR (7 FaR) %[ _JL2821 | 75H 100 53%
| JL2823 | 75H 500 48% | H:15,600
JL2827 | 75H 500 48% | H:15,600
FKEFE | _JL2822 | 75H 500 48% |#£:15600
[ JL2826 | 75H 100 53%
L2828 | 75H 100 53%
IR (FFa) =Te5 ALIR G %) 3 [ JL28: 758 500 52%
[ JL28 756 500 49%
[ JL28; 758 500 49%
L28 758 500 45% | % H:17,500
TEE%R | JL2830 | 758 500 45% | % +:17,500
[ JL2832 | 75H 500 45% | % 1:16,500
[ JL2834 | 75H 500 49%
L2838 | 758 500 45% | % H:17,500
FR=ALRFHTFR) RS [_JL287 758 700 53% |4 +:17,600, H:14.700
L2876 | 758 800 58% |&1:14,400
AL BT iR) % [_JL287 758 ,800 58%
L2875 | 758 300 54% 7.3
iE =#L1% i) [IE=ES [_JL2901 | 758 600 51% 1:19,500, H:14.800
[ JL2903 | 75H 600 51% £:18,500. H:14.800
[ JL2005 | 75H 9.500 70% £:15.800
| JL2907 | 75H 9,500 70% 117,100, H:15.200
JL2909 | 75H 14,800 54% |AH:15600, :18.100
FLR (B T %) 3 |_JL2900 | 75H 9,500 70% 4,800, 116,600
JL2902 | 75H 5,200 52% H:14,800
| JL2904 | 75H 4,200 55% 6,400
JL2906 | 75H 7.500 45% :15.600, H:19,100
L2910 | 758 7,200 46% :15,600, H:19,100
RE=HIEFHFR) NEES JL3403 | 75H 600 62% 21,
ALIE (FrF s | JL3406 | 758 00 £:20.300. H:21,200
BE=1E% EEGES JL3523 | 75H 800
EER L3526 | 75H 800
BE=l& [EEES | JL3531 | 75H ,000 % |E:18,600
L3537 | 758 900 3% | £:17,500
W& [ JL3530 | 75H 7.900 3% | H:17.500
JL3538 | 75H 19,000 61% | 118,600
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RE(CRE) =Xk (D) R CHE) % JL101 75H 9.300 3%
L103 758 9,500 2% £ 0. 1:10‘200__
JL107 | 758 1,600 4% K
L 758 1,600 4% X
JL 756 0,400 59% A&
L 758 0,400 59% X
JL 756 0,400 59% A
L 758 9,500 62% X
JL 756 9,500 62% A
L 758 .600 S
JL 756 600 ES
L131 758 .600 X
JL133 | 75H ,600 *x
L137 758 .600 X
JL139 | 7588 1600 ES
ENHCGZEES L10; T5HE ,900 :
JL104_| 7586 600 % | A:
L 758 Bl ,600 50% |A:
JL FHEES 00 50% | A:
L 758 Bl 00 50% |A:
JL T5E % 0,400 59% [t
L 75HHI ,500 62%
JL T5E % 500 62% 00
L 75HHI ,500 62% 00
JLi24 | 7588 500 62% 00
6 75HHI ,500 62% 00
JL128 | 7586 500 62 100
L 75HHI 11,600 100, H:12,600
JL T5E % 11,600 100, £:10.100. H:12,600
L 75HHI 11,600 ,100, 1:10,100, H:12,600
FOR CRE) =Kk (B#) | ®RRCAE)FE [ JL 758 9,300 63
L: 75HHI 11,300 55% ,500, £:12,700, H:12,200
KRR (BE) % | JL220 | 757 7,800 69%
L228 | 75H7 300 55%
RRCHE) =HIEGF) | RRCAE)HE [ JL501 | 758 ,200 67% ,100, H:11,200
L595 75HHI ,500 56% ,300
JL503 | 7586 500 56% 300
L505 75HHI ,700 58% ,800, H:14,400
JL507 | 7586 200 54% 400
L5 75HHI 7,200 54% ,400
JL 756 7,200 54% 400
L 756 700 58% :17.400, H:14,400
JL 756 900 60% -14,700
L 756 900 60% :14,700
JL519 | 758 400 62% -14,700
L521 | 758 700 61
JL523 | 758 700 61%
L525 | 75H 700 61 500
JL527 | 758 900 55% 500, £:15400. H:15900
[ JL529 | 75H 900 55% 500, £:15,400, H:15.900
JL531 | 758 400 59% 400, H:14,700
HREFFE) E L50 758 ,700 58% 700
JL502 | 758 200 57% 700
L596 | 758 700 55% 700
JL504 | 758 700 2
L506 | 75H 700
JL 756 700
L 756 700
JL 756 700 58%
L 756 700 58%
JL 756 700 58%
L 756 700 58%
JL520 | 758 700 58%
L522 | 75H 700 58%
JL524 | 758 700 58% 400, H:19,000
L526 | 75H 000 60% 400, H:19,000
JL528 | 75H 400 62% H:16.900
L530 | 75H 400 62% H:16.900
R CHHE) =18/ RE(CHE)% [ JL303 [ 758 ,400 70% 4,100, H:11,500
L305_| 75H 300 68% 00, £:14,600, £:15,100
JL307 | 758 600 62% - :16.200, H:13,300
L309 | 75H 500 60% H:13,300
JL 756 500 60% 7000, H:13,300
L 756 100 61% 500, H:13,600
JL 756 400 65% 500, H:13,600
L 758 500 72% 600
JL319 | 758 500 72% 600, H:13,600
L321 | 758 500 72% 114,600, £:13,600, H:14.100
JL323 | 758 100 68% 4200
1325 | 75H 100 68% 4,200, H:15,600
JL327 | 758 300 68% 6.200, H:15,600
1329 | 75H 800 66% 100, 200, H:16.400
JL331 | 758 800 66% 100, 400
1333 | 75H 100 66% .200. H:16.400
JL335 | 75H 100 66% 400
[HEES L300 | 75H ,400 70%
JL302 | 758 400 70%
L304_| 75H 000 4%
JL306 | 758 000 1%
L308 | 75H 600 2%
JL 756 300 68% H:13.800
L 758 500 72%
JL 756 500 72%
L 756 500 72%
JL 756 500 72% .
[ JL320 | 75H 500 7 . H:17.400
L32: 758 .600
JL32 756 600
L32 758 ,200
JL328 | 758 200 3 : :
L330 758 400 65% 3#:17,400, 100, 6,500
JL332 | 758 300 68% H:15.200. £:15.100
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Fm CHE) R (HE) % |_JLo01 | 75H 20,700 55% £:22,500, H:20.300
L991 758 20,700 55%
JL903 | 758 20,700 55%
05 758 20,700 55%
JL907 | 758 20,700 55%
L 758 ,700 55%
JL 756 700 57%
L 758 ,700 57%
L 756 300 60%
L999 758 ,300 60%
JL9T9 | 758 300 60%
[ JL921 758 ,800 59%
[ JL923 | 75H 800 59%
[ JL925 758 ,800 59%
PR GRS % | JL9O 75B 800 59%
L90: 75HHI ,800 59%
JL994 | 7588 800 59%
L904 | 758 800 59%
JL906 | 7588 300 58% H:20.600
L 756 800 55%
JL T5E % 200 54% H:23.500
L 75HHI .200 54% :23,500
JL T5E % 100 52% 500
L 75HHI ,100 52% ,500
JL T5E % 0,700 55% 500
L 75HHI 0,700 55% ,500
JL920 | 7586 0,700 55% 500
[ JL922 | 75HH 0,500 55%
KB (A =R G Fm) | KR(EFHE [_JL200 758 7,400 62% | % £:20,000
00! 75HHI ,600 66%
JL2009 | 75B 800 70%
L201 75 E B ,900 66% |-
ALIR (BT F %) % |_JL2000 | 7588 ,300 67% |&+:17,200
L2006 75HHI ,800 70% H:
JL2010 | 758 % 400 62%
[ JL201 75HHI 7,400 62!
KB (FAEE) =#LIR G Fi%) | KB (B#) % [ JL250 158 400 67
[ JL250: 75HHI ,300 7
JL2505 | 75B % 300 7
AL (BT F ) 5 [_JL2500 | 75E A 300 7
[ JL2514 | 758 300 7
L2518 | 75H 900 6% | H:17.400
KR () =18 KR (FFH % | _JL2051 | 758 9,700 s [1£:10,400
L2053 | 75H 9,700 £:10400
JL2057 | 75H 9,700
L2061 | 75H 1,300
EEES | JL2050 | 758 ,400 58%
[ _JL2056 | 75H 300 54
[ JL2058 | 75H 300 54%
L2060 | 75H 300 54
KR (A =48R\ | KREFFHFE [ _JL2081 | 758 500 52% |% 1:21,600
L2087 | 75H 400 63
RRE RS % | JL2084 | 75H ,900 61% | H:16,900
L2088 | 75H 500 52 21,600
BRI =#LI% (i) [EEES | JL3513 | 75H ,700 67% 1:20,100
L3515 | 75H 700 73 £:17,100
AL (BT F %) % |_JL3510 | 758 .700 73% 7,500
3512 | 75H 700 67% 20,501
RE(CFIE) =%&E3] RRE(CHE) % [ _JLs65 | 75H ,800 59%
L567 | 758 800 64%
JL569 | 758 200 65% H:19,400
B L562 | 75H 200 61% :22,200
JL56: 756 200 65% E 15,900, H:20,200
L56 756 800 64% 16, 21,200
RE CRE) =Rl RRCHE) % |_JL5S 758 ,200 63% : H:15,500
L553 | 75H 800 62% £:19,600. H:17.200
JL555 | 758 800 62% £:19,600. H:17.200
L557 | 758 300 65% 115,900, H:18,300
JEIIE JL652 | 75H 600 3
L554 | 75H 000 H:18,100
JL556 | 758 200 %:18,100, H:20.000
L558 | 75H 7,200 118,100, H:20,000
R CHE) =3k HRCPE)FE [_JL541 | 758 ,900 % £:20,000
L543 | 75H 500 £:17,200
JL545 | 758 000 66% [2:15,900, H:17.300
ElEES L540 | 75H 000 66% £ H:15,500
JL 758 000 66% |%+ H:15500
L 756 600 H:19,300
RRCRE)=%& RRCPE) % [ JLU 758 ,000 £ 1:20,700
L57 756 7,000
JL57 756 7,000
L579 | 758 7,000 %:19,000. H:20.800
HILFE JL570 | 75H 7,000 % 1:20,700
L572_| 758 7,000 H:18,000
JL574 | 758 7.000 H:18,000
L576 | 758 7,000 119,000, H:20.800
R CRHE) =& HRCHE) % | _JL585 | 75H .700 55% |4 +:19,100, H:14,600
L587 | 75H 200 57% 118,700, +:18,200, H:16.700
JL589 | 75H 600 59% 216,500, H:19.200
WEER L584 | 75H 300 51%
JL586 | 75H 300 54% |%:15,700, £:15.200, H:21,200
L588 | 75H 800 55% | 16,300, £:14,700, H:20,200
RRCPE) =F#% RECHE)%E [ JL 758 300 o
L 756 300
JL 756 300
L 758 800 2% | H:13,800
L149 758 ,.800 % H:13,800
JL151 | 758 300 H:13,300
BHRE L 758 300
JL 756 800 2
L 758 ,.800
JL 756 300
L 758 ,300 % H:13,300
JL 758 300 £ H:13,300
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= B2 \mawm| sma | 2EM i
Fm CHE) = Rm (HE) % |_JLI5 | 750 600 65%
Li57 | 758 1600 65%
JL159 | 75H 600 65%
=iR% Li154 | 758 600 65%
JL156 | 75H 600 65%
Li58 | 75H 1600 65%
Fm CHE) =FH RR (HE) % |_JLi6l | 75H 100 53% | H:12,200
L163 | 75H 700 50% | +£:14,600, H:12,900
JL165 | 75H 600 62%
L167 | 75H 400 51% 5:14,300, £:12.400
BEX JL162 | 75H 700 50% £:14.200, H:12,600
Li64 | 75H 600 54% :13,700, +:13,100, H:15,000
JL166 | 75H 600 54% 700, £:13.100, H:15,000
L16 758 700 50% 300, +:12,400, H:14,600
B CRE) =1Lfz RRCHE) R [ JLIT 158 ,600
L7 75B i 600
I3 JLI7 FHEL 600
L7 758 i 600
R (CRIE) =/ RRCHE)® |_JL183 | 758 400 62
Li85 | 75H7 10,400 58% | H:9.400
JL187 | 7586 400 62%
L189 | 75H7 400 62%
JL191 | 7588 400 62% | % H:0,000
93 | 7588 400 62% |%H:9.900
INVASE JL182 | 758 400 62%
84 | 75H B 400 62%
JL186 | 7588 400 62%
L188 | 758 400 62% [£H:9.900
JL T5E % 10,400 58%
L 756 9,900 60%
RR(CHE) =mFmita R RECHE) % [ JL 758 ,900 54%
L. 756 200 50%
J T5E % 800 51% |% H:16,300
HfEER L 758 000 57%
JL T5E % 800 51% | H:16,300
L 758 ,200 50% |#H:17,200
FOR CRE) =fEWl RECRE) % JL. T5HH .600 66%
L. 756 600 63%
JL235 | 7586 0,600 69%
7| 7568 600 69%
JL: 756 ,900 62%
L. 756 ,900 59% | £:13,400
ETES JL 756 300 66%
L. 756 ,700 62% | A% 13,100, H:12,200
JL 758 0,600 69%
L. 756 600 69%
JL240 | 75H 100 61% H:13,400. :12.500
L242_| 75H ,400 60% 114,000
RRE(PHE) =K% RRE(CHE) % [ JL253 | 75H 400 64%
L255 | 75H 600 55% 200
JL257 | 75H 600 55% 200
L259 | 75H 300 56% ,200
JL261 | 75H 100 59% 400
L263 | 75H 400 64% 115,100, H:14,100
JL265 | 75H 100 59% H:15,100
L267 | 75H 100 59% H:15,100
RE% JL252 | 75H ,700 63%
L254 | 75H 100 59% 700
JL256 | 75H 400 4% 114,600, 200
L258 | 75H ,400 4 114,600, 200,
JL260 | 75H 400 4% 114,600, 200,
L262 | 75H 100 6 000, 200,
JL26 758 100 3% 117,000, 200,
L26 758 100 6% 116,000, £:13,200.
B CRHE) =ILOF8 RRCPE)% [ JL29 758 ,100 69%
L29 758 200 63% | £:11,000, H:11.500
JL295 | 75H 200 63% |% H:15200
L297 | 75H 100 59% | £:14,200
[=E=F JL290 | 75H ,100 69%
L292 | 75H 500 65%
JL294 | 75H 100 59% |# H:17.100
L296 | 75H 100 59% | % H:17,100, £:14,000
RRCHE)=HE RECHE)%E [_JL277 [ 758 ,900 51%
L279_| 75H ,900 51%
JL283 | 75H 500 58%
L285 | 75H 500 55%
JL287 | 75H 200 50% |% H:18,100
HER L276_| 75H ,900 54% £:16.700. H:14.600
JL278 | 75H 900 54% [21:16.700, H:14,600
L280 | 75H 500 58% | H:14,500
JL284 | 75H 800 51% [£:16.700, H:17.100
L286 | 75H 800 51% |£:16,700, H:17.100
RRER(PHE) =#5 WRCHE)® [ JL453 | 758 ,600 65% |H
55 | 758 600 62%
JL457 | 75H 600 62%
L459 | 75H ,600 62%
JL461_| 75H 600 62%
L463 | 75H 600 62%
JL465 | 75H 600 62%
BER L452 | 75H 100 66
JL454_| 75H 000 64% | H:11,100
L456_| 75H ,000 64% | H:11,100
JL458 | 75H 100 66% | H:12,000
L460 | 75H 600 62%
JL462 | 75H 600 62%
L464 | 75H 600 65%
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Fm CHE) =@ R (HE) % |_J475 | 750 000 64%
L477_| 75H 600 59% £:14,200
JL479 | 758 500 62 £:13,400. H:12.900
L481 | 75H 000 H:12,900
JL483 | 758 000 H:12,900
[ JLass | 758 700 114,200, £
JL487 | 758 100 H:16,000.
BINFE L47 758 100 £:14,200,
JL4T 756 100 57% £:15.100
L47 758 500 62% :13,100, H
JL480 | 758 500 62% 13,
L482 | 75H 900 61% 113,600, H:
JL484 | 758 400 56% £ H:15,500
L486 | 75H 600 56% 3:15,800, £:15,100
FRCRE) =2 HRCRE)FE [_JL491 | 758 ,200 65%
L493 | 75H 7 700 64%
JL495 | 758 200 68% | H:12,200
L497 | 75H % 200 65%
JL499 | 758 900 58% |% H:15900
EEEES L490 | 75E 200 65%
[ JL492 | 758 % 300 62% £:14.500
L 756 200 68% :12,200
JL T5E % 900 58% 116,700, H:16.300
L 756 1900 58% 116,700, H:16.300
B CRE) =1 HRCAEFE [ JU 75B ,700 65% £:13.600
L 75B i 600 59% :12,700
JL435 | 7586 600 62%
7| 7568 200 69% :14,600
JL439 | 758 600 56% :17,400, H:17.100
L443 | 75H 7 600 56% 117,400, H:17.100
[AITES JL. 758 200 69% £:15.200
L 756 000 55% £:17.100. H:14.100
JL T5E % 600 62% 4,600
L 756 100 61% 114,600, H:15,600
JL T5E % 600 59% 15,700, F:13,700. H:17,500
L 756 700 67% :17,000, H:16,500
FOR CRE) =3t AM RRCRE)FE [ JL371 | 758 ,200 63% | H:13,700
L373 | 758 00 63% |[£:15,300, H:13,600
JL3971_| 758 % 00 66%
L375 | 75H% 200 65%
JL377 | 758 200 63% 116200, £:16.100
L379 | 758 200 63% £:15,700
TERWE JL370 | 75H 100 T1% 14,100, £:13.100, H:12,000
L372_| 758 200 63% 13,100
JL374_| 75H 00 7%
JL3972 | 75H 600 7
JL37 758 700 7% 15,800, £:16.100, H:14,700
L37 756 300 3
RR(HHE) =K% R CRE)E [_JL66 758 00 67%
L66: 756 00 63%
JL665 | 75H 00 63%
L667 | 758 800 65%
JL669 | 75H 400 61% | £:14,400
L671 | 758 00 60% | +:14,400
Rn% JL662 | 75H ,300 67%
L664 | 75H 800 65% |&£:15900
JL668 | 75H 300 67% [2:14,400, H:15400
L670 | 758 300 67% 214,400, H:15400
JL672 | 75H 900 60%
L674 | 758 900 60% 5,400
RE(PH) =Kk& RRE(CHE) % [_JL605 | 75H ,200 65% 5,600, H:14,800
07_| 758 000 63% £:16.700, H:14,800
J 758 300 69% £:17.000. H:16.500
L 756 300 69% 3:17,000, £:14,600
JL 758 300 69% H:17,000., 600
L 756 300 69% :13,800, H:16,000
% JL6O 758 ,800 68%
L 756 300 69% :
JL 758 300 69% | 8-
L 756 300 69% |H:
JL 758 500 62% |% H:17,000
L 758 800 66% | 217,200, £:15.700, H:16,700
RRCHE) =X RECHE)%E [ JL 758 1400 72%
L625 | 75H 400 72%
JL627 | 75H 1400 72%
L629 | 75H 400 72%
JL631_| 75H 1400 72%
[ JL633 | 75H 400 72%
[ JL3955 | 75H 1400 72%
L637 | 75H 400 72%
JL639_| 75H 1400 72%
33 L622 | 75H 400 72%
JL624 | 75H 1400 72%
L626 | 75H 400 72%
JL628 | 75H 1400 72%
30 | 758 400 72%
JL632 | 75H 1400 72%
[_JL634 | 75H 400 72%
[ JL3956 | 75H 1400 72%
L638 | 75H 400 72%
RRE(CRHE) =2k RRCHE)® | JL687 | 758 ,300 68% 600
L689 | 75H 000 61% 700, H:15.700
JL691 | 75H 000 61% 700, B:15,700
L693 | 75H 300 68% 115,600, H:13,800
JL695 | 75H 600 62% 3,300, H:16,500
L697 | 758 300 68% 7400, £:13,800. H:16,500
E:E L688 | 758 200 65% :15.200
JL690 | 758 600 62%
L692 | 75H 200 65% :16,500
JL694 | 758 200 65% |% H:16,500
L696 | 75H 500 60% 5,600
JL698 | 758 200 65% 7,400, £:14.600
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RRE(PH) =ERS RRCHE) R [ JL 75H ,300 69%
L 758 ,200 65% 6,500, H:13,300
JL 756 500 62% 7,300, H:13.300
L 758 ,300 69% 115,200, £ 1:16,500, H:15,600
JL649 | 758 300 69% :14,400, H:15,600
[ JL651 758 ,300 69% 1:16,200
JL653 | 758 400 65% 15,600, £:14.700, H:16.200
L655 758 ,400 65% 4:15,600, 1:13.300
BREX JL640 [ 75H ,300 69%
L 758 ,300 69% 14,900, =]
JL 756 300 69% 115,200,
L 758 ,300 69% ,200,
JL 756 000 66% 700,
L 65! 758 ,600 64% 3:16,500,
JL652 | 7588 400 65% :16,000, H:16.500
L654 75HHI ,400 65% 116,000, £:14,700, H:16,500
RR(RE) =K () | REGBE)FE [_JL3005 | 758 ,100 56%
L3007 758 100 56%
AR (FFH % | _JL3002 | 7584 .100 56%
L300 75HHI ,100 56%
FUR () =ALIR i) | R ()% | JL3049 | 75H ,900 55% | 717,800, 2:19,500, £:15,400, H:15.900
AL TR | JL3040 [ 758 ,700 58% | 1:16400, H:14.700
R (FRE) =&TE(PE) | R (RE)FE [ JL3083 | 75H ,700 7
L3087 75HHI ,700 7!
AHE(PE)F| _JL3082 | 758 ,700 7
L3084 75HHI ,700 7!
TR (R E) =18k Hm (RE)F [ JL3057 | 75B 300 68% 115,200, H:15,600
fwES 5. 75HHI ,400 70% 1:13,600, H:11,500
PNACZET AR (B FE [ JL 758 ,900 57% £:20,300. H:17.800
REER L: 7583l ,900 57% :19,800, £:17.700, H:20,300
AR (B =% AR (% [JL 758 ,000 59% +:17.600, H:15.800
L: 75HHI 7,000 59% :15,800
JL T5E % 700 59% 5,500, H:17.100
BRE L2152 | 75B i ,700 59% :15,500
[ JL2154 | 758 % 500 62% 6.700
5! 75HHI ,700 59 1:17,100, £:15,500
AR(BEFH==iR AR (% | JL216 75 Bl .500 61
ZIRFE L216: 75HHI ,500 61
KB (5 =7kE AR (D% [ _JL217 75 Bl .000 62
L217: 75HHI ,400 4
JL2179 | 75H 600 3 400
EFE 72 | 75H 000 2 400
JL2174 | 758 600 3% 400
L2176 | 75H 600 3% ,400
KR (B =T AR (FFH % [ _JL2181 [ 758 800 50%
[ JL2183 | 75H 00 50%
[JL2185 | 75H 00 52%
L2187 | 75H 800 47% | % H:22,800
TEER JL2180 | 75H 9,800 50%
L2184 | 75H 7,800 55% | H:18,800
[ JL2186 | 75H 8800 52%
L2190 | 75H 0,800 47% _|% H:22,800
KBz () = KR (FFH % | JL2233 | 758 5,000 58% | H:14,000
[ JL2235 | 75H 6,000 55% 15,000
JL2237 | 75H 7.000 53% H:19,000
%3 L22 756 7,000 53% :16,000
JL22 756 000 55%
L22 756 000 50% 000
AR (B =& AR (B % [ _JL2201 [ 758 ,400 61% ,100, H:13,200
[ JL2203 | 75H 400 61% 100, H:13,200
[ JL2205 | 75H 400 61%
L2207 | 75H 200 65% 14,400
JL2209 | 75H 400 61% £:14,400
[ JL2211 | 758 600 55% :15,100, H:17.200
JL2213 | 75H 000 54% :15.100, H:17.700
&% | _JL2200 | 75H 100 56%
JL2202 | 75H 100 56%
[ JL2204 | 75H 700 55% H:15,600
JL2206 | 75H 700 55% |4 H:16.500
[JL2208 | 75H 500 61% 4,800, H:16,500
JL22 756 100 59% |2 4900, H:16,500
L22 758 100 59% : :14,400, H:15,400
FNACEES 3] AR (B % [ _JL22: 758 ,900 57% | H:11,500
[ JL22 756 900 57% | H:11,500
JL22 756 500 65% |2 H:12,500, £:12.900
L2251 | 75H 900 57% | 214,400, £:12.900, H:14,900
FEES JL2240 | 75H ,900 57%
[ JL2244 | 75H 500 65% | £:12,700
JL2248 | 75H 500 65% |#+:12.700
L2250 | 75H 500 62% | 213,400, £:11.400, H:14,400
KR (B FH =#2l ABR(FH % [ _JL2301 | 758 ,300 46%
L2305 | 75H 900 48%
JL2309 | 75H 700 49%
EATIES L2302 | 75H ,700 49%
JL 756 900 48%
L. 758 0,700 44%
AR (B =X% KBR(FH % [ _JL2361 | 758 ,900 40% | % +:13,400, H:11,500
L2365 | 75H 500 42% £ H:12,900
JL2367 | 75H 000 40% _[£:13,400, H:13.700
R5F | _JL2362 | 75H 000 40% 13,400, H:12,000
JL2364 | 75H 500 42% (213,800, H:13.700
L2366 | 75H 400 38% 800, £:12,500, H:13,700
KR (B =R KBR(FH % | _JL237 758 ,800 56% ,800
L2373 | 75H 800 6 800
JL2375 | 75H 300 1% £ H:11,900
L2377 | 75H 500 7% | % H:13400
Rig% L237 758 500 7
JL2374 | 75H 300 % £:11,900
L2371 758 .300 % +:11,900
JL2378 | 75H 300 £ H:12,500




IS5 EE LS 6H12H~30

SEE®AE ;. 2015/1/20 ~
6/12-30
=R Ea |griel r
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KB (B =RE &R KB (FFFH % | JL2383 | 75H 0,700 59% & +:12,700
[ JL2385 | 75H 2,200 54% [ +:13,500, H:12,900
JL2389 | 75H 0,700 59% | % H:13,500
AR | JL23s2 | 758 ,700 59%
[ JL2386 | 75H ,900 51% H:13,500
L2392 | 758 900 51%
RER (51 =2 AR (% | JL2431 | 758 ,300 46%
[ JL2433 | 75H 400 45%
JL2437 | 75H 700 59% :15.300
L2441 | 758 400 49% 5.300
JL2443 | 75H 400 49% 5,300
AR | _JL2430 | 758 ,900 51% 4,500
JL2432 | 75H 900 51% 4,400, H:14.200
L. 758 200 46% 4,800, H:15.200
JL T5E % 200 46% 4,800, H:15.400
L 756 700 44% 600
AR (B =ERS R (FFH % [_JL2401 | 758 ,700 58% 400
L2403 | 75808 700 58% 400
JL2407 | 758 % 700 58% 400
L 75B i 500 65% 0
JL T5E % 700 61%
L. 756 700 61% ,
JL T5E % 400 59% 700, £:11.700. H:13.100
ERBE L 7588 500 65% 0
JL2402 | 75B 0500 65% 400
L2404 | 75808 0,700 64% 700
JL T5E % 700 64% 700
L. 756 100 53% 400
JL2412 | 758 % 400 59% 114,100, H:13.600
L2414 | 75E % 400 59% 114,100, H:13,600
B HE (PED) =ALR FrF k)| BEE(PAF[_JL3103 | 75HH ,800 55% £:20.800. H:18,500
L3105 | 7504 00 49% :19,300
JL3107 | 758 % 00 62% 9,400, H:19,700
L3115 | 75081 00 66% 8,100, H:19,600
JL3117 | 758 % 00 66% 5,300, H:19,600
ARG TR F|_JL3100 | 758 A 00 1 :19,300
JL3106 | 75B % 000 4 £ B:18.300
L3110 | 756 200 7 :18,300, £:19,900, H:20,100
JL3114 | 758 % 200 7% | 3:18,300, %:19.900. H:20,100
L3118 | 75H 00 55% |£:19,900, H:20,700
IR FFR) =FHF FLIR G F i) F [_JL2803 | 75H 00 59%
[ JL2805 | 75H 00 59%
JL2809 | 75H 00 59%
FHX | _JL2804 | 75H 00 59%
[ JL2806 | 75H 00 59%
L2810 | 75H 00 59%
FLOR (B F k) =FE ARG i) F[_JL2821 [ 758 100 53%
| JL2823 | 75H 500 48% | H:15,600
JL2827 | 75H 500 48% | H:15,600
FKEFE | _JL2822 | 75H 500 48% |#£:15600
[ JL2826 | 75H 100 53%
L2828 | 758 100 53%
IR (FFa) =Te5 ALIR G %) 3 [ JL28: 758 500 52%
[ JL28 756 500 49%
[ JL28; 758 500 49%
L28 758 500 45% | % H:17,500
TEE%R | JL2830 | 758 500 45% | % +:17,500
| JL2832 | 75H 500 45% | % 1:16,500
[ JL2834 | 75H 500 49%
L2838 | 758 500 45% | % H:17,500
FR=ALRFHTFR) RS [_JL287 758 700 53% |4 +:17,600, H:14.700
L2876 | 758 800 58% |&1:14,400
AL BT iR) % [_JL287 758 ,800 58%
L2875 | 758 300 54% 7.3
iE =#L1% i) [IE=ES [_JL2901 | 758 600 51% 1:19,500, H:14.800
| JL2903 | 75H 600 51% £:18,500. H:14.800
[ JL2005 | 75H 9.500 70% £:15.800
| JL2907 | 75H 9,500 70% 117,100, H:15.200
JL2909 | 75H 14,800 54% |AH:15600, :18.100
FLR (B T %) 3 |_JL2900 | 75H 9,500 70% 4,800, 116,600
JL2902 | 75H 5,200 52% H:14,800
| JL2904 | 75H 4,200 55% 6,400
JL2906 | 75H 7.500 45% :15.600, H:19,100
L2910 | 758 7,200 46% :15,600, H:19,100
RE=HIEFHFR) NEES JL3403 | 75H 600 62% 21,
ALIE (FrF s | JL3406 | 758 00 £:20.300. H:21,200
BE=1E% EEGES JL3523 | 75H 800
EER L3526 | 758 800
BE=l& [EEES | JL3531 | 75H ,000 % |E:18,600
L3537 | 758 900 3% | £:17,500
W& [ JL3530 | 75H 7.900 3% | H:17.500
JL3538 | 75H 19,000 61% | 118,600
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| BREE | g e kel mamm | T | g kel
KBx (REF) = h#B (RS | KPR (BIE) % | ,900 59% 56% £:19.400 900 59% | +:19,000
H B 300 68% 7% £:14.200 300 68% £:13.900
E B 300 68% 116,700 £:13.600 300 68% 400, £
ErAC A E AN H B 300 68% 7 : 300 68%
E B 300 68% H:15.200 300 68%
H B 900 59% 55% 0,000 900 59% :19.000
EE-ES B B 900 52% 50% 4,700 .900 52% £:15.700, H:14.200
B B 900 52% 50% 1470 900 52% £:15.700, H:14.200
E B 800 55% 53% +15.000. H:15.200 800 55% +16.000. +:14,500, H:14.700
B B 800 55% 53% :14.000, H:15.400 800 55% +15.000, £:13.400, H:14.900
E B 000 55% 53% ,000, £:14,001 000 55% 3:15,500, 1:13,400
B B 500 50% [ a8 +15.00( 500 50% +16.100, +:14.500
PE BB R [N B H ,600 56% 4 ,600 56% £:15.000
H B 000 55% 7 000 55% £:15.10
E| B 700 52% B:16.400 700 52% 5700, H:15.900
B B 700 52% 7 B:16.400 700 52% 5700, H:15.900
= B 700 52% B:17.600 700 52% 117100, H:17.000
B B 700 52% s £:14500, H:17.600 700 52% 6.100, £:14.000. H:17.000
RRECAH) =R\ R CRH) % B B 25,200 62 56% 28,200 58% £:30.700
B 24,200 4 60% 25.600 1% +:28.800
RERE B 20,000 67% 21,900 7 2,900
B 24,200 4 60% | 25.600 1% 28.800
RRECAB) =88 R (JH) B 20,400 7 61% 4,200 1 £:27.300
5 B 900 68" 62% |F 0 3.700 62% :26.800
Az (BfE) =R\ AR (BH7E) % X B ,900 67" 66% 0. % +:20.900 7.900 67"
18 5 H 400 70% B .900 7 70% 5.900 7
AN =R (AR AN B .800 52% B .700 52% 7.700
S (I ) 3¢ H 800 52% B 700 52% 7.700
BEE (PE) = (BB |BTE (P H B .300 55% B ,800 52% 20,100
H 300 55% B 800 7 52% 20.100
E| .900 66% B 800 68% 62% 15400
H 600 7% B 300 72% 67% 13.800 .
PR (BE) % B .900 66% B ,800 68% 62% 15.400 :16.900
H .200 56% B 700 57% 52% .200. £:18.600. H:22.600 20.200 -
E| .200 56% B 700 57% 52% .200. £:18.600, H:22.600 20.200
H .200 56% B 700 57% 52% . £:18.600. H:22.600 20.200
FELLFE E| 600 4% B 20.100 48% 1 800 21,200
SR () 3 H 600 4 B 20.100 48% 1% 21.200
SRHREBRB) =RE LETETE N I B 8.400 3 B 8,000 69% 4 9.000
H 12.700 B 12.300 52% 7% 13.400
E| 12,700 2 B 12.300 52% 7 13.400
H 400 B .00 69% 7 000
= 400 7% B .00 69% 000
E 400 7 B .00 69% 7 .000
E 400 7% B .00 69% 000
E 400 7 B .00 69% 7 .000
E 400 7% B .00 69% 000
BER B .400 7 B .00 69% 7 .000
E 400 7% B .00 69% 000
E 400 7 B .00 69% 7 .000
E 400 7% B .00 69% 000 65%
E 400 7 B .00 69% 7 000 65%
E 400 2 B 0 69% 000 65%
E 700 B 300 52% 7 400 48%
E 700 2 B 300 52 7 400 48%
E 700 B 300 7% 400 48%
R =aT (B % B .100 o B ,900 B .900 39%
E 100 B 900 38% 1900 39%
| 100 2 B 00 38% 1900 39%
E 7.200 B 7.00 58% 000 59%
E 7.200 2 B 7.00 58% 000 59%
E 7.200 B 7.00 58% 000 59%
E 7.200 2 B 7.00 58% 000 59%
E 7.200 B 7.00 58% 000 59%
B B 11.100 o B 10,900 38% 11,900 39%
E 11.100 B 10.900 38%
E 7.200 2 B 7.000 58%
E 11.100 B 10.900 38%
| 11.100 2 B 10,900 38%
E 11.100 B 10.900 38%
B 7.200 2 B 7.000 58%
H 7,200 5 B 7,000 58%
EA=RE BER B 500 29% — — 29%
H 500 29% - — — 20% ——
RERE B 500 51% 45E 81 51% 45881
H 500 29% — 20% -
BB =AKE (B % B .900 35% 35% —
H 900 35% 35%
B 7.900 35% 35%
H 7,900 35% 35%
B 7.900 35% 35%
H 7,900 35% 35%
B 7.900 35% 35%
ARER B 7,900 35% 35%
B 7.900 35% 35%
H 7,900 35% 35%
B 7.900 35% 35%
H 7,900 35% 35%
B 7.900 35% 35%
H 7,900 35% 35%
EBB) =5/ P (BBE) % B .700 26% 26%
H .700 26% 26%
REAB) =EXXE [ PEEHE B .900 28% 28%
| 000000 | BEAB® B ,900 28% 28%
HOERE) =53E PR GIRER) 3¢ ] .700 49% 49%
RACT24 | 28H 16,700 49% — — 9% —
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KRBz (BF) % |__NU0OT Al 800 £:22.300 458 A
[NU005 800 £:15.200 458
009 800 0,800, F:15.200 458
P (BE) 5  |__NU002 800 1 5:15.200_ 458
[ NU004 800 £:15.200. H:17.700 458
008 300 | 50% 458
TR =54 R 3 RESE [_NU051 200 44% 458
[NU053 7.000 | 44% |2 458
[NU057 5400 | 50% |4 458
[ NUo61 5400 | 50% |4 458
[ NU063 5500 | 50% |4 458 +16,500, £:14.500
065 7.000 | 45% |2 458 117,100, £:15.500
(R |_NU050 5.200 51% 458 16.000
[ NU052 5500 | 50% |4 F:16.600 458 16,600 1 £:16.100
[ NU054. 7.000 | 45% |%:18.100, H:18,300 458 100, B:18.300 7 117,600, B1:17.800
[ NUO056 7.000 | 45% |%:18.100, H:18,300 458 100, 6:18.300
[ NU060 7.000 | 45% |%:19,500, H:19,400 458
062 7,000 | 454 |2 258
RRCAE)=RE RRCAE)FE |_NU0TI .500 54%
073 200 | 58% |4
BEE | NU0TO 200 | 64% |
076 200 | 58% |
ERAR) =84 HECRE) % 021 800 | 59% [3
= 022 300 | 59% |F
Kk () =R1E AR (BA7) 5 083 800 | 52% |4
hE% 086 700 | 66% |F
M= E RE) ANAFE 037 800 | 52%
SR (BE) 5 | NU036 .800 52%
ZEE (P =FARH) | BEERIMR 1200 | 46%
200 | 464 |2
400 | 60% |4
5200 | 65% |2
B IER T 7.400 60% | H:20. 11
300 | 46% [4:23,.800. £:21.100, H:25.200 300, 20,600, H:24.600 H:25.200 300, F:20.600. H:24.600
300 | 46% [4:23.800. £:21.100, H:25.200 300, F:20.600. H:24.600 H:25.200 300, F:20.600. H:24.600
300 | 46% [4:23,.800. £:21.100, H:25.200 300, £:20,600. H:24.600 H:25.200 123,300, +:20.600. H:24.600
L =4 IR ER) [ENTE 1 700 1 1:25.800 800
Rl GRER) 3 1 700 1 5,800 1:24.800
FE(WE) =hiE FE R %  |_NU60 400 4°
[ NU605 800 | 47
[ NU607 800 | 47
[ NU609 400
613 400
[ NU6i7 400
["RAC705 400
[ NU621 400
625 400
RERE | _NU60O 400
[ NU608 | 28I | 9400 | 64% | [4s5EE |
610 400
612 400
614 400
[ NU6i8 400
[ NUG622 800
[ NU626 800 | 47"
C708 800 | 47"
ARG =24 FE(RE) % |_NU551 100 38%
[ RAC8OT 100 | 384
[ NUS57 100 | 38%
[ NUS559 200 | 58%
[ NUS65 200 | 58%
[ NUS567 200 | 58%
571 200 | 58%
573 200 | 58%
Bax [ _NU552 100 38%
[ NUS56 100 | 38%
[ NUS558 200 | 58%
[ NU560 100 | 384
[ NUS64 100 | 384
[ NUS66 100 | 38%
572 200 | 58%
C804 200 | 58%
BER AC833 500 29%
AC837 500 | 9% —
BER AC834 500 | 51% 25EAL 45H# | 6100 | 54%
AC838 500 | 9% —
HEBE) =ARE R GIRER) 52 AC871 900 35%
AC873 900 | 35%
AC875 900 | 35%
U211 900 | 35%
ACB1 900 | 35%
[ RAC88 900 | 35%
AC8S: 900 | 35%
AXBR AC8T: 900 35%
ACB7 900 | 35%
ACB76 900 | 35%
[ NU212 900 | 35%
[ RAC880 900 | 35%
[_RAC882 900 | 35%
ACES: 900 | 35%
HHBE) =58 R GIRER) 52 AC81 700 [ 26%
5% AC81 700 [ 26%
HHE) =BEXS Pl GIRER) 52 AC8S5: 900 [ 28%
BERGFE AC8S5: 900 [ 28%
HHERE) =53E Rl GIRER) 52 ACT721 700 [ 49%
SHEFE ACT24 700 | 49% — — — e — ——
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KBk (BH#E) =8 (AR5R) PNAGEDES 55H 900 [ 61% 4.900 61% [&+:16.400 .700 7 £:20,300 .700 7 +:20.300
55H 800 | 69% 800 | 69% .000 4.400 .000 £:14.400
55H 800 | 69% 800 | 69% |£:15.900 000 :20.000, £:14.400 000 20,000, £:14.400
PHEGRER) 3 55H 800 | 69% 800 | 69% .000 t H:14.400 ,000 1 H:14.400
55H 800 | 69% 800 | 69% .000 400, H:16.900 000 +:14.400, H:16.900
55H 900 .900 :16.400 700 0 .700 0
&l EEEES 55H .200 200 15.000, H:13.500 .000 8% 800, H:15.400 .000
55H 200 .200 £:15.000, H:13.500 .000 48% 800, 400 .000
55H 200 .200 115,300, +:13.800, H:14.100 300 54% 6.300. +:14.900. H:15.100 300
55H 600 |62 .600 2 4.200 600 59% :15.300, H:15.200 600 59% 5.200
55H 300 |57 .300 7 . £:12.800 400 53% 400 53% E
55H 800 |52 800 |52 3.800 800 49% 800 49% :14.900
S (IR ) 5E 55H 000 | 58% 3000 58% .100 54% 100 54%
55H 600 1.600 600 59% 600 59%
558 100 100 % .200 .900 49% :17.000 .900 49% :17.000
558 100 100 % .200 .900 49% :17.000 .900 49% :17.000
558 100 100 % 00 00 49% :18.100 .900 49% :18.100
558 100 100 £:15 00, H:16.200 00 49% :15.200, H:18.100 .900 49% :15.200, H:18.100
RECHE)=F1E R (HHE) 5 55H 00 35 26.200 S .100 59% 100 59%
558 00| _65% 4.400 S 26.100 61% 26.100 61%
alER 558 00 [ 70% 1.800 B: 24,000 64% 24,000 64%
558 100 | 65% 400 K] 26.100 61% 26.100 61%
RRCHE) =% R (FH) 5 U 55H 0.300 | 67% 100 1 S 25,600 59% 25,600 59%
R u 558 9.800 | _68% 600 | 62% | H:26.700 25.100 60% 25.100 60% [H
KR (BF) =R 1E KR (B78) % u 558 7400 | _68% 400 | 68% |A:18.400. £ £:19.400 4.200 55% 24.200 55%
f 15 % U086 | 55H 5400 | 72% 5400 | 72% |8 7.700 7% 20.800 62%
N =R (AR ) N U037 | 558 7100 63% 7100 | 63% 7.100 3% 7.100 63%
SEE GRER) % u 558 7100 | 63% 7100 | 63% 7.100 3% 7.100 63%
BTE (PE) =P R BHE(RED R U 55H 000 | 58% .300 55% 00 9% 1.900 49%
u 558 00 | 58% .300 | 55% 00 49% 1.900 49%
u 558 800 | 73% .300 | 69% 400 7% 4.400 67%
u 558 800 | 73% .300 | 69% 400 7% 4.400 67%
ErAEEES u 558 800 | 73% .300 | 69% 400 7% X 4.400 67%
u 558 900 | 59% 400 | 55% 800, £:17.300, H:21.100 .000 9% ,400, £:19.900, H:23.700 22,000 49% 400, £:19.900, H:23.700
u 558 7900 | _59% 400 | 55% 800, £:17.300, H:21.100 .000 49% .400, £:19.900, H:23.700 22.000 49% 400, £:19.900, H:23.700
u 558 7900 | _59% 400 | 55% 800, £:17.300, H:21.100 .000 49% .400, £:19.900, H:23.700 22.000 49% 400, £:19.900, H:23.700
FELL5E u 558 9.500 | _49% 20700 | 46% |2 1:24.300 0.700 46% 24.300 20.700 46%
B GRE) % u 558 9.500 | _49% 20700 | 46% |H:24.300 0.700 46% :24.300 20.700 46%
EE(RE) =R 1E EE (R % U601 | 558 7.700 |70 8.700 66% 8.700 66% 8.700 66%
U605 | 55H 11.800 | 54 12.800 | 50% 12.800 50% 12.800 50%
U607 | 558 11.800 | 54 12.800 | 50% 12.800 50% 12.800 50%
U609 | 558 7700 | 7 700 66% 700 66% .700 66%
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JN3775 | 28HAD 8,700 30% —— p— p—
EFER JN3760 | 28 H B 8,700 39% p— p— p—
JN3762 | 28HAD 8,700 30% —— p— p—
JN3768 | 28HAD 8,700 30% —— p— p—
JN3774 | 28HAD 8,700 30% —— p— p—
BERE=EBAE EREHR JUN3741 | 28HGAN 9,300 40% [ f— p—
JUN3745 | 28HAD 10,700 31% — p— p—
JN3751 | 28HAD 10,700 31% —— p— p—
JN3755 | 28HAD 10,700 31% —— p— p—
JN3759 | 28HAN 9,700 38% —— p— p—
BABR JN3740 | 28H B[ 9,700 38% p— p— p—
JUN3744 | 28HAD 9,700 38% —— p— p—
JN3746 | 28HAD 10,700 31% — p— p—
JN3752 | 28HAD 10,700 31% —— p— p—
JN3758 | 28HAN 9,700 38% —— p— p—
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rEgzE 1 EE8%(6HA18~6A30HEENAR

EEERE 2015/1/29 ~
6/12-30
AMTA 7B
X B
FH T BEB A = BEEB
mAmE | ERR | g s mame| TR | g W

BERE=EXKXE BEREH JN3721 B A1 2,300 5 p— p— p—
JN3723 H & 2,300 5 p— p— p—

JUN3725 B il 4,900 4 p— p— —

JN3727 B a1 4,900 4 p— p— p—

JN37. EEil 00 5 p— p— p—

JN37 B A1 00 4 — p— p—

JN3735 B A1 00 2 p— — —

JN3737 H & ,900 5 p— p— p—

BEXER JN3722 =L ,900 4 p— p— p—

JIN3724 B &1 ,900 46% [ p— p—

JIN3726 B i ,900 50% p— p— p—

JN3728 B i ,900 46% p— p— p—

JN3730 K 4,900 42% p— p— p—

JN3732 =K 3,900 46% p— p— p—

JN3734 H & 4,900 42% j— j— j—

JN3738 =N;0] 2,300 53% — J— p—

ERBE=ERE EREH JN3781 EED] 6,900 % p— p— p—
JIN3785 EEi] 7,400 % [ p— p—

EREH JN3780 EEi 7200 ™ — — —

JN3784 K 6,900 % e p— p—

BERE=EZE EREH JN3791 EE] 5,400 49% p— p— p—
JN3793 B i 8,500 % p— p— p—

JN3795 B i 8,500 % p— p— p—

JN3797 ] 8,500 % p— p— p—

E2BH JN3792 EEi 8,500 % p— — —

JIN3794 EEi] 8,500 % p— p— p—

JIN37 EEi] 8,500 % p— p— p—

JN37 ] 5,400 49% p— p— p—

ERE=FKERER EIREH JN380 EE] ,000 42% p— p— p—
JN380 B &1 ,500 41% p— p— p—

JN380! ] ,000 42% p— p— p—

K RADFE JN3800 K ,000 42% p— p— p—

JN3804 =L 500 1% p— p— p—

JN3808 EEi ,000 42% — o p—

BERE=5# R B% JN3823 EE] 0,100 42% — — —
5 JN3824 =K 0,100 42% —— p— p—

BEXGE=ERE EESNEES JN3831 K] ,600 % e p— p—
JN3833 EEi ,600 % — o p—

JN3835 EEi ,600 % — o p—

ERERE JUN3830 EEi ,600 % p— p— p—

JN3832 EEi ,600 % — o p—

JN3834 EEi ,600 % — o p—

BEXG=WZE EESNEES JN384 K] ,300 % e p— p—
JN384 EEi ,300 % — o p—

BeER N384 EEi ,300 % p— p— p—

JN3844 EEi ,300 % — o p—

BEXS="KRE YN JN3851 K 1,700 % e p— p—
Sk REDFE JN3850 K ,700 % e p— p—

BEXE=5#H YN JN3861 K ,700 % e p— p—
5% JN3862 K ,700 % p— p— p—

K RED =5 ik RALFE JN3855 EEi 6,900 % e p— p—
HE JN3856 | 28HF] 6,900 38% p— p— p—
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[R——% B I EEX(6HA1H~6A30ARES)D e

EEEAA 2015/1/29 ~
6/1-4 6/5-11
=R ®E |78 | EEL . B
BAIR | EEHE | Lo WE| EEE | Low |#E
EE RS ZI5|%

EE ==k EEES UN3621 | 55HAED 5,900 73% 5,900 73%
JN3623 | 55H B 5,900 73% 5,900 73%

JN3625 | 55H Bl 5,900 73% 5,900 73%

JN3631 | 55H 7 5,900 73% 5,900 73%

JN3633 | 55H Bl 5,900 73% 5,900 73%

JN3635 | 55H Bl 5,900 73% 5,900 73%

JN3637 | 55H B 5,900 73% 5,900 73%

JUN3639 5,900 73% 5,900 73%

JN3641 5,900 73% 5,900 73%

EGES JIN3620 5,900 73% 5,900 73%

JN3622 5,900 73% 5,900 73

JN3624 5,900 73% 5,900 73

JN3626 5,900 73% 5,900 73

JUN3632 5,900 73% 5,900 73

JN3634 5,900 73% 5,900 73

JN3638 5,900 73% 5,900 73

JN3640 5,900 73% 5,900 73

JN3642 5,900 73% 5900 73%
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[R——%B | BEX(6A1B~6H30BEFEH)D

2015/1/29  ~
6/12-30
B e BEH
EEEE il #%

FHES J 1 5,900 73%
JN3623 5,900 73%

JN3625 5,900 73%

J 5,900 73%

J 5,900 73%

JN3635 5,900 73%

JN3637 5,900 73%

JN3639 5,900 73%

JN3641 5,900 73%

EHEES JN3620 5,900 73%
JUN3622 5,900 73%

UN3624 5,900 73%

JN3626 | 55HH] 5,900 73%

JN3632 | 55HA] 5,900 73%

JN3634 | 55HAI 5,900 73%

JN3638 | 55HE] 5,900 73%

JN3640 | 55HE] 5,900 73%

JN3642 | 55HAFT 5,900 73%
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6A1H~6H30H

EEERAA 2015/1/29 ~ HBB A

6/1-4 6/5-11

=R @8 |00 EEL B
BAMIR | EE8E | oo BE| EEE | 0L | FE

EE RS ZI5|%

==k EEES UN3621 | 75HAED 5,500 75% 5,500 75%

UN3623 | 75HAD 5,500 75% 5,500 75%

UN3625 | 75HAL 5,500 75% 5,500 75%

UN3631 | 75HAD 5,500 75% 5,500 75%

UN3633 | 75HAD 5,500 75% 5,500 75%

UN3635 | 75HAD 5,500 75% 5,500 75%

UN3637 | 75HAED 5,500 75% 5,500 75%

UN3639 | 75HAED 5,500 75% 5,500 75%

UN3641 | 75HAED 5,500 75% 5,500 75%

EGES JUN3620 | 75HBE0 5,500 75% 5,500 75%

JN3622 | 75 5,500 75% 5,500 75

JN3624 | 75 5,500 75% 5,500 75

JUN3626 | 75 5,500 75% 5,500 75

JN3632 | 75 5,500 75% 5,500 75

JN3634 | 75 5,500 75% 5,500 75

JN3638 | 75 5,500 75% 5,500 75

UN3640 | 75HAL 5,500 75% 5,500 75

JN3642 | 75HE] 5,500 75% 5,500 75%
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9SS EB I EEX(6A1H~6A30BEESY)Q

EEERE 2015/1/29  ~
6/12-30
XFH B = BEH
EEE il #%

==5 FEES J 1 5,500 75%
JN3623 5,500 75%

JN3625 5,500 75%

J 5,500 75%

J 5,500 75%

JN3635 5,500 75%

JN3637 5,500 75%

JN3639 5,500 75%

JN3641 5,500 75%

EHEES JN3620 5,500 75%

JN3622 5,500 75%

JUN3624 5,500 75%

JN3626 | 75HEI 5,500 75%

JN3632 | 75HEI 5,500 75%

JN3634 | 75HEI 5,500 75%

JN3638 | 75HTI 5,500 75%

JN3640 | 75HE] 5,500 75%

JN3642 | 75HAFD 5500 75%
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